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That it still survives today as one of the world’s most popular
games is a measure of its perennial attraction to all ages, classes
and creeds.

Backgammon is characterised by a unique combination of skill
and chance. Success depends on understanding the arithmetical
probabilities which underlie the throw of two dice. Vere
Molyneux describes these probabilities as “‘the solid ground on
which both tactics and strategy are based”, and applies his
remorseless intellect to explaining them in a way that the newest
beginner will understand.

This book is a complete introduction for the novice. Besides
probabilities, much attention is given to strategy, gambling and
doubling and the beginner is run through an excellent sample
game with commentary.

The final chapters explain some other games played on the
backgammon board, especially Moultezim and Ghioul, and the
book concludes with descriptions of some diceless games
including Domino Backgammon and the newly-invented
“Grasshopper”’.
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Preface

This book is written for the complete beginner in bridge. I

have assumed that the reader has no knowledge of bridge, or

indeed of any card game. The first part describes in the simplest

l:i_nguage how the game is played, its object and the elements
scoring.

Part 2 is devoted to the bidding. There are several methods
or systems of bidding and it is impossible in the space of this
book to describe them all. Therefore, I have concentrated on
the methods most popular in Great Britain. Although these
may differ in some particulars from the methods favoured
elsewhere, such as in America, much of the fundamental
framework of bidding is the same the world over and is based
on common sense.

Again, considerations of space prevent a more compre-
hensive description of the play, but a more complete and
detailed account can be found in my ‘Bridge. Elements of
Play’.*

Parts 3 and 4 deal with the defenders’ game and the play of
the hand by declarer.

Throughout this book I have endeavoured to provide good
reasons for everything that I have advised. Long experience in
teaching has proved repeatedly that to confront beginners with
so-called rules is a mistake. Provide guiding principles backed
up by reasons, certainly. But to dish out rules as if they were
local government regulations can never assist a beginner to

master the game of bridge.
G. C. H. Fozx.

*Published by Robert Hale.



PART ONE

Introductory and
How the Game is
Ploged

Contract Bridge is a game for four players, two of whom sit
opposite one another and play as partners against the other
two. Throughout this book we shall refer to the players, for
convenience, by the terms North, South, East and West.
So in the diagram below North and South (N & S) are playing

against East and West (E & W).
N
w E
S
The Pack

The game is played with one pack of fifty-two cards (no jokers)
and the cards rank in the order of ace (highest), followed by
king, queen, etc., down to the two (lowest).

There are four suits; these are, in their ranking order,
Spades &, Hearts 9, Diamonds ¢, and Clubs dp.

When the cards are played, as will be described in more
detail later, each player plays a card from his hand in clockwise
rotation and it is an important rule that each player must
follow suit. That is to say that if the first player plays a spade
each of the others must also contribute a spade if they have
one. If not they can follow with any card they like.
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Tricks

As bridge is a game involving taking tricks it is necessary to
explain at this stage what is meant by a trick. Take this simple
example. 4 of spades

N

2o0fspades |W B | King of spades
S

Ace of spades

Suppose that West leads the two of spades, North plays the
four of spades, East the king of spades and South the ace of
spades. These four cards (one from each player) constitute a
trick and the highest card played (in this case the ace) will win.
These four cards are gathered together into a small pack and
placed in front of one or other of the partners face down.

It is a rule of the game that the player who wins a trick leads
to the following trick. In the example, South, who won the
trick with the ace of spades, would lead to the next trick. He
may lead any card of any suit.

It does not matter which partner keeps the tricks, but it is a
rule of the game that the tricks should be arranged neatly in
order so that they can be identified.

The ace, being the highest card of the suit, will nearly
always win a trick. But there is one situation where the ace
could be beaten - if it is trumped.

Trumps
A trump is a card of a specified suit that, for the purpose of the
particular deal, has precedence over all the other suits for trick
taking purposes. The trump suit is established by the bidding,
as will be described later.

The effect of a trump can be seen in the next example.,

2 of spades
N
Aceof spades |W B| 3ofspades
S
2 of clubs (trumps)



West leads the ace of spades which can fully be expected to
take the trick. Both North and East follow suit but South has no
spade. But he has a club, a card of the trump suit. Although his
club is only the two, the lowest card in the pack, he will
nevertheless win the trick as he has trumped the ace of
spades. He might also be said to have ruffed the ace, as the
term ‘ruff’ is the same as ‘trump’ .

Object of the Game
To understand the object of the game it is best to see an
ordinary bridge scorer which looks like this ~

WE THEY

The line down the middle separates our score from that of our
opponents. The horizontal line across the centre is important
as it separates the scores that go towards making a game (see
below) and those that are bonus scores.

The primary object is to win two games which means that
you win one rubber. To make a game you need to score 100
points or more below the horizontal line.

When a rubber has been completed, one side having won
two games, the scores are added up. Each side adds up all the
points scored, both above and below the line. The side with the
greater total wins and, if there is a monetary stake, per hundred
points of winning margin, the score is computed correct to the
nearest hundred. E.g. 850 difference would count as 8 (hundred)
points, but 860 would count as 9.

To score below the line you must bid and make what is
termed a contract. That is to say, you and your partner must
undertake to win a given number of tricks over and above six,
either with a suit as trumps or without any trump suit (No
Trumps).
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The reason that a contract involves taking a certain number
of tricks above six is this. In every deal each player starts with
thirteen cards. If he plays one card at a time there will be
thirteen tricks. Mathematically, out of these, one side or the
other must win at least seven. So the seventh trick is the odd
trick and equal to a contract of one.

Thus to call a contract bid of’:

I spade means that you reckon to win at least seven tricks
with spades as trumps.

3 diamonds means that you reckon to win at least nine
tricks with diamonds as trumps.

The amount that you will score will depend on the suit that
becomes trumps or if there are no trumps. The values are as
follows:

No Trumps — The first trick after six counts 40 points and

each trick thereafter counts 30.

Spades and Hearts (Major suits) - Each trick above six

counts 30.

Diamonds and Clubs (Minor suits) — Each trick above six

counts 20.

As a game needs 100 points or over it can be seen that game
can be made in one hand with:
3 No Trumps (40-+30-+30) = 100
4 Spades or 4 Hearts (30+30+30430) = 120
5 Diamonds or 5 Clubs (20+20+-20-+420-+420) = 100

It is more difficult to make game in diamonds or clubs as
they count so little. It is best to aim at playing in no trumps or
spades or hearts.

It may not be possible to make enough tricks to score 100
points in one deal. If you settle for a lower contract and
succeed you will have a ‘part score’. That is to say you will
have something towards your 100 and will only need to make
up the balance next time.

Example. You play a contrdct of 2 spades and make (win) 8
tricks. You score 60 points below the line (2 X 30). Suppose
you had made 10 tricks. You would then have scored 6o
points below the line and 60 points above. Only the 60 points
below the line will count towards game (100) as that was all
you contracted to make. The 60 for the other two tricks will all
be scored when you add up at the end, but they are bonus
scores. Had you bid 4 spades, i.e. had you contracted to win
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four tricks over the six and succeeded, you would have scored
120 points below the line (game).

In explaining the difference between scoring above and
below the line it has been necessary to refer to the bidding,
which means the number of tricks that the partnership
undertakes to win. This aspect of the game will become
clearer when we describe the auction.

We said earlier that the primary object of the game is to win
two games and score a rubber. This carries with it a bonus
which goes above the line. The bonus is:

700 points if one side wins 2 games and their opponents

score no game (2-0)

500 if one side wins 2 games and their opponents score

one game (2-I)

Tennis players can compare this to a tennis match consisting
of three sets. If one player wins the first two sets it is game, set
and match (= 700 bonus points and rubber). If his opponent
wins the second set and he wins the deciding set it is similar to
a 500 bonus rubber win.

Space here does not allow a completely detailed description
of all the scoring, but the scoring table on p. 122 contains the
complete necessary information. Nevertheless it may be as well
to make brief mention of what happens if a player fails to make
the number of tricks that he contracted on behalf of his
partnership to do. For example, South bids 3 hearts and
instead of taking nine tricks (6 + 3) he ends up with only
seven. He is two down (undertricks). He loses penalty points
to his opponents, which they score above the line. The amount
he loses depends on whether he is VULNERABLE or NOT
VULNERABLE during the hand concerned.

A side becomes vulnerable when they have made one game.
Having one leg of the rubber and being in a better position
than their opponents they are handicapped in that the penalties
when they fail are bigger. Certain bonuses are increased also,
but it is usually wise to be a bit more careful when you are
vulnerable and you are not too certain of success.

Another term that appears on the scoring table that needs
explanation is DOUBLE. If your opponent makes a bid that
you do not consider he will be able to fulfil you say ‘double’.
If he fails in his contract the penalty will be greater. If he
succeeds, his score is doubled and he receives a small bonus
above the line of 50 for the doubled contract.

Other items of scoring which need explanation are these -
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Honours

These are the ace, king, queen, knave and ten. If a player holds
all five honours in his own hand and the honours are in the
trump suit he can claim a bonus of 150 points, scored above the
line. If he holds any four he can claim 100. The bonus is
scored irrespective of whether the player succeeds or fails in
his contract, or whether he is declarer or defender (see below).
Also if a player holds all four aces in his hand and the contract
is being played in No Trumps, he can claim 150. It is normal
practice to claim the honours bonus at the end of the hand.

Slams

A player who contracts to win all thirteen tricks, and succeeds,
scores a Grand Slam. If he contracts to make all except one
he scores a Little or Small Slam. As the scoring table shows,
these carry quite a large bonus, larger when the contracting
side has already won one game (i.e. is vulnerable).

General Procedure

When the four players sit down to play bridge it is usual to cut
for partners. That is to say, the pack is spread out across the
table face downwards and each player detaches a card at
random and turns it upwards. The players with the two highest
cards play as partners against those with the two lowest. If two
players cut a card of equal rank, the ranking order of the suits
applies. This is

Spades &

Hearts Q (Alphabetical order,
Diamonds ¢ upside down.)
Clubs &

The player who cuts the highest card is the dealer and he is
entitled to two small privileges:

(1) He may select where he wishes to sit. Some players are

superstitious and think that a particular seat is lucky.

(2) He can choose which coloured pack to use. One side

d:ﬁls with one coloured pack and the other side with the
other.

Of course, if there is a pre-arrangement whereby two players
have agreed to play together against two others, the cut is
solely for deal and choice of seats, etc., but not to determine who
plays together.

The player on the immediate left of the dealer shuffies the
pack (often referred to as ‘making’ the cards) and passes them
to the dealer who is entitled to a final shuffle. He passes them
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to the player on his right who cuts the pack by dividing it
roughly into half. The dealer completes the cut by placing the
two portions back together, the lower one now being upon the
top of the pack, and proceeds to deal the cards clockwise, face
downwards, one at a time, to each player. At the end of the
deal each player will have thirteen cards. These he sorts out
into suits in his hand, holding the cards in such a way as not to
be visible to any other players. The deal passes clockwise
round the table, so that if South, in the diagram below, deals
the first hand, West will deal the next and so on. Dealer’s
partner meanwhile shuffles the other pack and places it on his

right.

The Auction

The dealer is entitled to make the first bid. We shall examine
the principles on which he should bid in Part 2. For the mom-
ent we shall say that in very broad terms if he holds a good
hand he will bid and if hergas a bad hand ‘No bid’.

Once the bidding has started, it proceeds in a clockwise
manner round the table, each bid being higher than the pre-
vious one. A player who bids in a higher ranking suit can do so
at the same level or number of tricks; otherwise he must
increase the bid.

No trumps ranks, for bidding purposes, higher than any of
the suits. This is in accordance with their greater points value
as set out on page 10. Therefore 1 no trump will be sufficient
to outbid 1 spade, 1 heart, 1 diamond or 1 club.

The auction remains alive until three players pass, by saying
“No bid’, in succession. At this point the auction comes to an
end and the final bid becomes the final contract.

Here is an example, where South is the dealer:

N
w B
S

South opens one spade and West bids two clubs. North sup-
ports South and bids two spades and then East bids three
diamonds. South follows with ‘No bid’ as also does West.
But North now bids three spades and all the other three
players pass with ‘No bid’. The auction has finished and the
final contract is three spades. That is to say North and South
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have contracted to win at least nine tricks (6 + 3) with spades
as trumps.

An auction at bridge is similar to that in a saleroom. If a
piece of furniture is put up for sale and someone bids £10 and
someone increases to £12, and then eventually after a bid of
£20 the auctioneer says ‘Going, going, gone, knocked down to
Mr. South for £20’°, Mr. South has bought the item. In the
example above, when three players said ‘No bid’ after North’s
bid of three spades, the contract was bought by North-South.

The trump suit has been established as a result of the
bidding, as also has the number of tricks to be taken.

The first player to name the suit or denomination that
becomes the final contract is called the declarer. Here South is
declarer because he first called one spade, and the players on
his left and right are the defenders.

Playing a hand

The defender on the left of the declarer makes the opening
lead by placing a card face upwards on the table. Immediately
after this the declarer’s partner (North) lays all his cards face
upwards on the table, sorted into suits with the trumps (if any)
on his right. North is called Dummy and he has no active part
in the play of that hand. He cannot make any suggestions or
offer to help. He has some rights which you need not worry
about at this stage.

South, the declarer, plays both hands (his own and dummy’s)
and tries to make the number of tricks he has contracted to
win. The defenders’ aim is to prevent this happening. In our
example, where the final contract is three spades, South must
try and win nine tricks and if he succeeds he will score go
points below the line (nearly game). The defenders in this
instance must try and take at least five tricks to prevent the
declarer making his contract of three. If they are successful
they will score points by way of penalty and these will be
scored above the line.

To end Part 1 we will illustrate the play of two hands.
In the first hand we will assume that the bidding has ended
with South as declarer in a final contract of four hearts, which
means that South must win ten tricks in all (6 + 4) to succeed.

West leads the ace of spades, after which North places his
thirteen cards on the table with the trumps (hearts in this
instance) on his right. In order to follow the play we will
expose all the four hands:
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® 654
© Q875
O AJés
% Qs
é AKQ N ® 9872
032 w gl V96
O 10742 O 98
% J1098 s S K7643
® Jro3
QY AKJ104
¢ KQ3
S A2

West wins the first trick, the four, two and three of spades
being played by each of the other players. West continues with
the king of spades and, again, the other three players follow
suit by playing a spade. West, having won the second trick,
plays the queen of spades and once again all players are able to
follow with a spade. West now leads the knave of clubs and
South tries to win the trick with dummy’s queen, but East
plays the king and South has to win the trick with his ace.

It is now South’s lead and he plays hearts (trumps). He
wants to draw the trumps from his opponents’ hands and after
two rounds which he wins by playing the ace and next the
king, he has attained his object. When each opponent has
given a card to the two rounds of trumps they will have played
four in all. As South and dummy had 9 between them, all the
trumps will have been drawn from the opponents. His chief
worry is that he may lose a trick in clubs as he has a low card
in each hand (his own and dummy’s). But he is able to avoid
this by playing diamonds. He first leads the king which takes
the trick and next the queen which also wins. Both opponents,
of course, play diamonds to these tricks as they have to follow
suit. Next South plays the three of diamonds and the trick is
won by dummy’s knave. East has no diamond to play and can-
not follow suit. If he had a trump he could use it but South
was careful to draw the trumps first. So East discards a club.
As dummy won the previous trick with the knave of diamonds,
the lead is in the North hand (dummy) and the ace of diamonds
enables South to throw away, or discard, his two of clubs.
South cannot follow suit having run out of diamonds and can
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discard what he likes. He is not compelled to trump. South
must win the remaining tricks as he has the only trumps left in
his hand. It will be remembered that all the trumps held by the
opponents (defenders) were drawn by South early in the game.

South has made his contract, having lost only three tricks. He
scores 120 points below the line and has won a game. His side
becomes vulnerable. In addition he can claim that he held four
honours in the trump suit in his own hand and will score 100
points above the line.

On the next hand North-South have bid badly and the final
contract is three no trumps with South, again, the declarer.
West leads the ace of diamonds and these are the four hands:

é Qro9
Y KQ6
O 32

S AQJ98

N

&
O AKQos8 |W B
& 54 s

® AKJ87

¥V Axog

O Jro7

% K3
West wins the first trick with the ace of diamonds and continues
with the king and next with the queen. The dummy hand
cannot follow suit in the third round and as there are no trumps
can only throw away a card from some other suit, such as a
club. After three tricks all won by West with his top diamonds,
no other player has a diamond in his hand. With no trumps,
this means that there is no way of preventing West from win-
ning two more tricks by leading his remaining two diamonds
and thus taking a total of five tricks and defeating the contract.
After losing the first five tricks it can be calculated that South
will make the rest as, between himself and his dummy, he has
all the top cards.

Bad bidding cost the game, because had North and South

made spades the trumps West would not have been able to
win so many tricks. He would have been stopped after two

16

PO
OO &
Curnawn
Naw




rounds by a trump card from the dummy, who only held two

diamonds to begin with.
At the end of these two hands North-South’s score card would
look like this:
WE THEY
100 100
120

The 100 points on the right would be the penalty for going one
trick down vulnerable (one undertrick).

Part One Quiz

I.

w N

Mr. & Mrs. Smith and Mr. & Mrs. Jones sit down to play
bridge and agree to cut for partners. They cut as follows:
Mr. Smith draws the king of spades

Mrs. Smith draws the ten of diamonds

Mr. Jones draws the ten of hearts

Mrs. Jones draws the six of spades.

(a) Which two play as partners against the others ?

(b) Who is dealer ?

. After the deal, how many cards should each player hold ?
. South opens the bidding with one heart and North, his

partner, bids three hearts. There is no further bidding.
(a) Who is declarer and plays the hand ?

(b) Who makes the opening lead ?

(c) How many tricks does the declarer need to make ?
(d) Which suit is trumps ?

4. The final contract is two spades played by North as declarer.

He makes eleven tricks.
(a) How is this scored ?
(b) Has he made a game ?

. When does a side become vulnerable ?
. South plays a contract of three no trumps and makes nine

tricks. He held all five honours in clubs in his hand.
(a) What does he score ?
(b) Does he score game ?

. How many tricks can you afford to lose if you bid

(a) Grand Slam?
(b) Little Slam ?

. If you fail to make your contract can you still claim a bonus

for honours ?
17



Answers to Part One Quiz

I.

N

(a) Mr. Jones and Mr. Smith play together against the two
wives. Mr. Jones, having drawn the ten of hearts, is
partner to Mr. Smith (king of spades) as hearts is a
higher ranking suit than diamonds.

(b) Mr. Smith who drew the highest card.

. Thirteen
. (a) South, who first mentioned hearts

(b) West, on the left of South
(c) Nine (6 + 3)
(d) Hearts

. (a) 60 points below the line (only two spades bid) and 9o

points above the line (3 X 30 for overtricks).

(b) No

When they have scored one game towards a rubber.

(a) 100 points below the line. No score for honours as
clubs were not trumps.

(b) Yes.

. (a) None

(b) One

. Yes.

18



PART TWO

The Bidding

In discussing the bidding it will be convenient to abbreviate
bids by first putting the number and then the symbol of the
suit or NT for no trump. e.g. I € = one spade, 2 & = two
clubs, 1 NT = one no trump.

In Part 1 it was explained that it is only possible to score
below the line and win games by bidding what you thought you
would make.

In order to make the best of your cards it is essential for two
partners to have some common understanding whereby they
can describe to each other the nature and quality of the hand
they possess and thereby assess how many tricks they consider
they can win jointly and which suit, if any, it would be wise to
have as trumps. For this purpose it is necessary to have a
mutually understood system for the Bidding. There are
numerous systems, some more simple than others. The two
systems most popular in England, both fairly straightforward
and natural, are:

(1) The 2 Clubs System. This derives its name from one
special bid of 2 ¢ which signifies a very strong hand (see page
38).
(2) Acol. This is in many ways similar to the 2 Clubs system.
The system derived its name because, before World War II,
a group of leading players used to play in a club in Hampstead,
London, called the Acol Bridge Club as it was situated in
Acol Road, N.W.6. In the necessarily fairly short coverage of
bidding in this book the methods recommended will be applic-
able to both systems mentioned above. Should there be any
important differences they will be stated.

Valuation

Purely as a guide as to the strength of your hand for bidding
purposes all systems employ a simple method of counting points
for the honour cards, as follows:
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For each ace you hold count, 4 points.

For each king you hold count, 3 points.

For each queen you hold count, 2 points.

For each knave you hold count, 1 point.

The ten is sometimes valued at half a point; if you do not
wish to get tangled up with fractions it is perfectly satisfactory
if you regard it as an asset. When the top cards have been
played the lower cards such as tens and even nines come into
their own, and to hold, say, K 10 8 looks better than K 4 2,
though each contains only 3 points (the king).

A simple count will show that each suit contains 10 points
(A + XK+ Q+]) and as there are four suits the total pack
contains 40 points.

If you and your partner were able to discover that you held
between you all 40 points it would be easy to call a Grand
Slam, contracting to make all 13 tricks, as you would have all
the high cards.

Needless to say this hardly ever happens, but it is possible to
discover that your side possesses the larger share.

An average hand contains 10 points (a quarter of 40). As an
opening bid literally implies that the bidder is prepared to take
at least 7 tricks it is reasonable to assume that his hand should
be above the average. It is asking too much that he should have
seven probable tricks in his own hand. He is entitled to hope
that his partner will be able to contribute something.

So, as a start, we will recommend that any hand containing
13 points or more will always qualify for an opening bid as it
represents the value of one king (3 points) above average.

Opening Bids of One in a Suit
Before discussing hands of 13 or more points that automatically
qualify as an opening bid, it may be as well to consider hands
just below that value (13). It is wrong to assume that you must
pass if you do not hold 13 points. But you must hold com-
pensating strength by way of distribution.

Consider these two hands:

& AK76 & AK976
A. QO A43 B. Q0 A43

Q)76 ¢ J76

& 843 & 84

12 points 12 points

20



Hand A is unlikely to win more than three tricks by itself.
The ace and king of spades should win and also the ace of
hearts, but after that it is doubtful if you would make any
more.

Hand B is better as you hold 5 spades. This means that the
other three players have 8 between them. Assume, then, that
these are divided as equally as possible, e.g.

® 432
N
Q)8 |w E| & 105

S
S AK9g76

When the ace of spades is led, West follows suit with the eight,
North with the two and East with the five. On the king of
spades West plays the knave, North plays the three and East
the ten. On the third round West wins with the queen,
North plays the four; East has no more and throws a card of
another suit. This leaves South with the only two remaining
spades which will take tricks provided no-one can follow suit
and they cannot trump.

A long suit is therefore an advantage. Some players like to
count an extra value for a short suit in their hand. This is
wrong; it may be an embarrassment to have to trump because
you may run short of trumps. A short suit should only be
i::nsidered of value in the supporting hand as we will explain

ter.

In every hand a certain number of tricks are won with high
cards such as aces and kings and a certain number with small
cards which become established in the manner described
above, where the five card spade suit was likely to produce
extra tricks by virtue of its length.

Therefore, if you hold a long suit you can afford to dispense
with some high cards. But if you hold an evenly balanced hand,
where the longest suit contains only four cards, you are not
likely to win many tricks with low cards and you are largely
dependent on the aces and kings.

Hence the need for 13 or more points when there is no long
suit.
21



. A simple yardstick to cover hands with less than 13 points
18 -

Open with 12 points if you hold a reasonable 5 card suit

Open with 10-11 points if you hold a reasonable 6 card suit

or two § card suits,

In addition the hand should be worth two defensive tricks.
That is to say, the hand should be likely to take at least 2
tricks, even if the opposing side play the contract and you
defend.

It is not safe to count on more than 2 defensive tricks in one
suit as it is unlikely that the suit will go round more than twice
without some player being able to trump.

Similarly the bidding may affect the position. Suppose you
hold 6 spades headed by ace and king. You can count on having
2 defensive tricks, for with a normal distribution of the remain-
der each player will have at least two. But if your partner
supported you to four spades, which he would only do if he
held at least four cards in the suit, you would have ten out of
thirteen spades between you and it would not be surprising if
the opponents were able to trump the first round should the
final contract fall to a different suit.

Before leaving the question of opening bids with hands
below 13 points it should be emphasized that the player who
makes the opening bid enjoys many tactical advantages,
including putting the opponents, at least temporarily, on the
defensive. It should also be said that it is much safer to open
with a bid at the one level than to wait and come in later at the
level of two or more.

Examples of OPENING Bids on hands with Jess than 13

points
(a) & AK1086 b) & A2
Y K1076 Y KQJo86
O Q54 O 1086
» 76
Bid1 & Bid1 Q@
(0 & AQJ7s5 (d & KQ632
Q KJ763 VK74
O 85 O Q76
& 3 & Q3 .
Bid1 & Pass. Despite 12 poin
the suit has no sub-
stance



Opening Bids with 13 or more Points

A hand containing at least 13 points in high cards is, in value, a
king above the average, as explained already. The problem is
not whether to open or pass. It is whar to bid.

Firstly, a suit to be biddable, must consist of at least four
cards. This is a fundamental principle based upon common-
sense.

When you bid a suit it is at least a tentative suggestion that it
will be trumps. (If you hold only three cards in a suit, then
mathematically one player at the table must hold four. As
there are two opponents and one partner, it is 2-I against your
partner holding four. But the purpose of selecting a trump suit
is to control the hand and you must have a majority of the
trumps.)

Secondly, the suit should have some substance. As a major
suit is more likely to be supported immediately it needs to be
stronger, containing at least two honours, one of which is
queen or better, for example:

(@ AJ43 (b) Qroés (© KJ76

A minor suit is less likely to become the final trump suit and
can be bid onless,e.g. 10 4 3 2: J 7 6 2

If you have more than one biddable suit it is important
to call the right suit first. The choice is governed by an im-
portant principle that is common to virtually all systems:

That is that it is an understood thing that when a player
opens the bidding he promises to give his partner a second
opportunity to bid if he responds initially by calling a different
suit at the minimum level. The only exception to this is where
the partner has already said ‘No Bid’, thereby denying the
values for an opening bid.

The reason for this principle is simple. Your partner may
hold a good hand, containing say 13-14 points which should be
enough to justify a game contract. But it may not be possible
for him to show the full strength of his hand on the first round
owing to lack of information. On the next round he should
know enough and he must therefore be given the opportunity.

In technical language a change of suit by responder is ‘forcing
for one round’. This means that if the opener’s partner
(responder) bids a different suit the opener is forced to bid
once more, as he would be in these two examples:
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(@ S N ® S N

1O 1 & 19 290
Consider these two hands:
® KQo6 N ®Js54
0 AQ7s © 64
O 43 w El O AK1076
& Q54 s & 876

Suppose we assume the opponents remain silent. West opens
1 & and East replies 2 ¢ West next calls 2 ) to show the
second suit. East has a modest hand and merely wishes to
convey that he would rather have spades as trumps. He does
this by bidding 2 &. Suppose you interchange his spades and
hearts, giving him & 6 4 and ) J 5 4. Now he will pass after
the 2  implying that the second suit is better for him.

Consider what would have happened if West had opened
1 Q and re-bid 2 & over 2 . East would not have liked to
leave his partner in 2 & with two low cards, but 3 ¢ would
have been too high. The difficulty arose because West opened
the wrong suit.

In order to follow the principle explained above some rules
of thumb should help:

With two four card suits open with the higher ranking suit
first. This holds good only if the suits are adjacent in ranking
order. With four spades and four clubs for example, you would
open I .

A simple rule which covers all hands divided 4-4-3-2 is:
open with the suit ranking immediately below the doubleton
(suit with 2 cards). If that is not biddable go on down the order
to the next, e.g.

(@ dAJ72 (b) & AJ72
Q 43 Q 43
O AK106 O Q52
Q75 & AQ86
Open1 O Open 1 &. Suit below

doubleton is diamonds;
not biddable so pass on
to clubs.



We explained earlier (page 23) the need for the opener to
make a further bid if his partner responded in a new suit.
The question of rebids will be described in a later chapter
(page 45)- )

In Example (a) above the opener will rebid 1 & if partner
responds 1 <. If partner responds to 1 ) with 2 & the opener
will support to 3 de.

In example (b) opener will rebid 1 & if partner responds
either 1 ¢ or 1  to the opening bid of 1 .

With two five card suits, open with the higher ranking one,
except with five clubs and 5 spades. In this case open 1 & and
re-bid 1 &, e.g.

(c) & AJo64 (d & AQro7s
Q0 Q3 Q43
O KQ1086 O 6
é 8 & AK9g86
Open1 & Open 1 é; re-bid 1 &.

In an instance like (d) above if partner bids again, you then
repeat spades. Such a re-bid (repeat) of a suit by a player,
which has not been supported, promises at least five cards in
the suit.

If the opening-biddable suits are different in length, open
with the longer one.

Sometimes a re-bid by the opener in the second of two
biddable suits forces his partner to show a preference for the
first suit at the three level; the opener should avoid this unless
he holds a strong hand of about 16 points e.g. (a hand with 16

points)
& AQ97
Y KQ1086
O AJ2

&3
Open with 1 . If partner responds 2 & or 2 { bid 2 & next.
This virtually compels your partner to bid 3 §? in order to put
you back to your first suit if he prefers it. But you have a good
hand and your hearts are longer than your spades.

Most opening bids are made at the level of one as it is
desirable that your partner should be allowed to indicate what
he holds at a low level. Thus for an opening bid of one in a
suit your points may range between 10-II including a six
card suit, up to a possible 19. With more than 19 points an
alternative opening bid is likely to be made.
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Opening Bid Quiz

KJ2
43
5

< O

SO %

d & KQS86

Q0 87643
O J76
s J3

(a & AKQ

What do you open on -

() & 76
Y 108
O AKQ1086
B Js52
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Answers to Part Two, Opening Bid Quiz follow on next page.



Answers to Quiz

(a) No Bid. Only 11 points and no good suit. The spades are
not biddable.

(b) One Spade. Good 6 card suit with 11 points.

(c) One Diamond. Only 10 points but a good suit that you can
safely repeat.

(d) One Spade. Higher of two touching suits. Also the suit
below the doubleton. (When clubs is the short suit, or
doubleton, you go on to spades.)

(e) One Club. With equal length in clubs and spades, open
1 &e. It is also the suit below the doubleton as you dis-
regard diamonds which are not biddable.

(f) One Heart. Longer of two biddable suits of unequal length.

28



Response to Opening
Suit Bids

As the opening bid may cover a large range it is important to
ensure that the opener has a further chance. Suppose the
dealer bids 1 ) and the other three players pass; the auction
would be ended.

To avoid this the minimum strength you need look for to
keep the bidding open, in considering the responding hand, is
6 points.

It follows that with a very weak (minimum) hand it is desir-
able to find the cheapest bid. Here is an example:

Assume partner opens I & and the next player says No
Bid; and you hold,

Vi

4
7
108 4
Q97

A total of 6 points and enough to respond. Diamonds is your
longest suit, but to bid 2 ¢ would increase the number of
tricks to make from 7 to 8. You cannot reasonably support
spades and the only bid that does not increase the contract is
1 NT.

This implies -

(1) A weak hand of 6-9 points

(2) Not much support for partner’s suit

(3) That it is the most economical bid.

Given an improved hand such as this,

® 943

Y Q108

¢ K10735

$ AQ4
You have 11 points plus two tens and an even hand. Evenly
divided hands are usually associated with no trumps. As you
are too good to bid 1 NT, you bid 2 NT. Had you been a little
stronger you could have bid 3 NT.
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Normally a response of'
I NT = 6-9 points, 2 NT = 11-12, 3 NT = 13-15.

Hands containing 10 points are awkward. If they contain
good intermediate cards such as tens and nines they may
justify stretching the response to 2 NT. More often it is better
to make a simple response in a new suit.

Consider this hand and assume the opening bid is 1 .

You hold,

® 43
QY Qro75
O K1o64

& Q42

You can help your partner in hearts. He has at least four so
that you hold at least eight between you. The fact that you hold
only two spades is an asset as, once they are played you will
be able to trump spades with your supporting trumps. So you
raise 1 ¢ to 2 . The single raise promises trump support,
which should comprise four if possible. Occasionally you may
support with only three, including an honour, but this may
mean that you have only seven trumps against the other side’s
six. The overall strength of the hand will be about 6—9 points
as with 1 NT, the difference being that you have support for
the opener’s suit.
Again given hands such as these:

(@) & 42 (b) & 42
Y Q1086 ¥ Qro75
O K962 O AJ1062
® AQs » K4

In each case respond 3 <, which guarantees at least four of
partner’s suit and about 10-11 points or a little less with good
distribution.

On hand (b) there is no need to show the diamonds. Try for
game in the major suit which needs only ten tricks (4 X 30 =
120). Bidding 3  also makes it more difficult for the opponents
to compete against you, possibly in spades.

A1 Q-4  raise to game would suggest a distributional
hand, such as



This is a good hand if hearts are trumps. It will not be much use
in defence. You bid 4 < to make it difficult for the opponents
to enter the bidding cheaply. When you hold a lot of cards in
your partner’s suit try to buy the contract as quickly as you
can.
The responses in no trumps and raising partner’s suit are
referred to as limit bids. This term means that your bid has
described the full value of your hand within a narrow range.
Your partner is therefore able to judge whether it is worth
going on. If he sees no future, he can pass. In other words, a
limit bid is not forcing. It does not compel your partner to
bid again and this is because he can judge the combined
strength quite accurately.

It is not always possible for the responder to show his full
values on the first round. He may need more information and
he obtains this by bidding a different suit.

Assume the opening bid is 1 & and you hold,

® Kogyg3

Y K852

O 1042

S 65
A total of 6 points and therefore enough to respond. The
cheapest bid for you is 1  and this will enable another bid to
be found at a low level e.g. if your partners hand is,

(@) & AJ65 (b) #J6
Q)3 Q AJés
Q765 O 76
& AQJ8 S AQJ84

he will rebid 1 4 and you can support to 2 é. Alter the hand
to (b) and he can then support 1 ) to 2 ¢. With a choice of
four card suits to respond, bid the cheapest.

Your hand may not be so weak. Consider these:

(a & KQ3 (b) & Ké64
¢ AKS873 Q63
O Qro4 O KQro8
S 42 & AQ83

You hold hand (a) and partner’s opening bid is 1 é. You hold
14 points, equal to an opening bid. As partner has opened you
can hope for game. But you cannot bid game straight away as
you do not know enough about his hand. Therefore respond
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1 O. If he supports you to 2 , bid 4 . If he re-bids 2 & or
1 NT suggesting lack of support for your suit, bid 3 NT.

With hand (b) your partner has opened 1 4 and you hold
14 points, but again you are unable to fix the contract at this
stage. Bid 2 &b, a change of suit that guarantees a further bid
from your partner. At the two level this promises at least
8—9 points. Suppose he bids 2 &. By repeating the suit he
can be assumed to hold at least five. You hold three, making a
total of eight, so you can raise him in spades. The only problem
is how far. Ask yourself whether you could have opened the
bidding if it had been your turn. As the answer is “Yes’, you
bid game - 4 .

Suppose that instead of repeating the spades he bids 2 ).
Now you bid 3 NT. The only reason that you did not bid
3 NT earlier was the fact that you might both be weak in the
same suit. Now that he has bid hearts you are not worried.

The simple way to look at it is this. If you are in doubt as to
the best final contract and you would like more information,
bid a new suit and hear what your partner says next.

Sometimes you are fortunate enough to hold a very strong
hand opposite the opening bid, with 16 points or more. You
are not worried about not making game but you have ambitious
thoughts about making a slam, that is taking all the tricks
(grand slam), or all except one (small slam) and getting a
large bonus.

The first step is to make a jump bid in a new suit at a level
exactly one higher than was necessary to outbid the last call,
e.g I -3 dporI Q-24. As it is legally necessary to bid 2 &
in order to outbid 14 (clubs being a lower ranking suit) a
response of 3 &b represents a hand that is exactly one level
higher than necessary. Similarly 1 P-2 & is a jump bid at a
level one higher than necessary, since 1 € would be legally
sufficient to outbid 1 ). A response of 2 NT to an opening bid
of one in a suit (e.g. 1 Q or 1 ) is NOT a jump bid in a new
suit and NOT FORCING. In fact 2 NT is a limit bid indi-
cating 11-I2 points (very occasionally 10, as discussed on
page 30). This jump bid in a new suit ensures that the bidding
is not allowed to stop before a contract has been reached which
will be sufficient to make a game (e.g. 4 @:3 NT: 5 &). In
other words neither partner should pass a bid that is insufficient
tomake game. This allows the bidding to develop gradually
so that each partner can obtain as much information as
possible. It is generally referred to as ‘forcing to game’.
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If the opponents intervene the position is slightly altered
insofar that the opener will be given a further chance to bid.
Thus, suppose South opens 1 ? and West bids 1 & and North

holds:
S Kyg2
V863
O Qro7s
é J86

He would have bid 1 NT had West passed, to give his partner
another chance. But as West has bid, the auction will not end
until South has had another turn, and therefore North can
pass with his poor hand. A bid of 1 NT at this stage would
suggest about 8-10 points with a stopper (high card) in spades,
the opponent’s suit. (Slightly more than the minimum 6-7
that he might hold to bid 1 NT after a pass by the second
player.) The situation is slightly altered if North is in a position
to support his partner’s suit. In this case he should still raise,
e.g. South opens 1 Y and West overcalls with 1 é. If North,
with heart support, passes, East may raise spades and South is
stuck, being unable to carry on single-handed. The initiative
has been lost. But if North bids 2 ? South can compete if
East supports his partners spades as he can at least count on
support for his suit (hearts).

Responding Bid Quiz

1. Your partner, North, opens with 1 &, East passes. What do
you say on

(a) # Q943 (d) & Q62
Q63 Y A1053
O K764 O Az
& Jros & K1086

() & 872 () d# KJ975
QY Qroé Q3
O Kroé6z2 O AQio42
S Q83 32

() & Q2 () & 642
0V AJ4q V2 Q73
O KJ76 O Q42
®J975 *J432
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. Your partner, North, opens 1 &b, East passes. What do you
say on

(@ QQ84z (d) & Ag3
@ K1076 Y AKJ96
o Qsz O KQ2
& 64 & Q6

®) # AQJ43 () # AJ1063
Y Ag2 Y 108
O Q83 <> KQ62
S 65 75

) & A76 ) & J2
Q@ KJo9 Q Q42
O Kio8 O Ja3
& Qro6s & Qro752



Answers to Part Two Responding Bid Quiz follow on the next
page.



Answers to Responder Quiz

1. (a) 2 #. Single raise promising 4 trumps. Implying 69
points.

(b) 1 NT. 6-9 points. Not much support for spades.
Cheapest bid.

(c) 2 NT. 11-12 points evenly divided.

(d) 2 . This hand might be played in either spades, hearts
or no trumps. Bid 2 ¢ and find out more about partner’s
hand.

(e) 4 &. Based on distribution.

(f) No Bid. Too few points.

2. (a) 1 Q. Cheapest available bid.

(b) 1 &. You hold the values for an opening bid, but you
need to know more.

(c) 3 NT. Balanced hand of 13 points and 2 tens. The most
likely game contract.

(d) 2 Q. Forcing to game. Slam likely.

ge) 1 &. If you get support game is possible.

f) 2 . Not a good hand but club support.
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Opening Bids in
No Trumps

The opening bid of 1 NT shows an evenly divided hand. The
shape will be 4-3-3-3 or, 4-4-3-2 or, 5—3—-3—2. In other words
the opener will have at least two cards in his shortest suit.
He must not have only one (singleton) or none (void). He may
hold a 5 card suit, but this must be a minor (diamonds or clubs)
and not a major (spades or hearts). The reason for this is that
games are rarely made in a minor suit requiring eleven tricks in
all, when nine tricks in no trumps will be easier. A major suit
only needs ten tricks for game.

The strength of the hand will depend upon partnership
agreement as there are two distinct ranges, referred to as the
Strong No Trump and the Weak No Trump. Before you start
to play you must agree with your partner and tell him which
range you are going to use should you make an opening bid of
one no trump. Some players consider the opening strong no
trump is better than the weak and vice versa; there are advan-
tages both ways. You are also entitled to know what your
opponents are doing.

Strong No Trump
An opening bid of one NT shows a balanced hand with
16-18 points. Alternative range 15-17.

e.g. (a) & K86 (b) & K86
D AJ4 0 AQ
O K795 O KJro7s
& AJs & A63 _
16 points. 17 points. § card minor.

The responder is in a good position as he knows the type of
hand his partner holds and also its strength within 2 points. He
is not obliged to reply but will do so if he considers that he can
improve on the contract either by raising it in the hope of
making game or taking out into a suit if he considers it safer.

It is generally accepted that a combined total of 25-26 high
card points will be sufficient to take nine tricks (game) in no
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trumps. If one player holds a long suit, you may succeed with
less. So in raising no trumps you only do so if there is a
possibility that the combined hands can total 25. If they can-
not, pass unless you consider it to be safer to play with a suit
as trumps.

In considering whether to raise no trumps always assume
partner holds a minimum but allow for the possibility he has
the maximum. Thus if you hold o0-7 points and no long suit,
say - No Bid.

On balance it does not pay to raise with 7 points without a
long suit. With 8 points — Raise to 2 NT.

Here you hold 24 points for certain. It may be 25-26,
depending on partner’s hand. If he has 17-18 he can then bid
3 NT. With a bare 16 he will pass.

With 9 points or over in your hand - Bid 3 NT as the
partnership has at least 25 points.

examples:

(a) & K43 (b) & K64 (c) # K86
¥ Q73 © Q762 Y Q97
O J642 CJ7s O K754
® 876 ® Q384 ® Q73
No Bid. Bid 2 NT. Bid 3 NT.

A response to a no trumps bid in 2 of a suit, apart from clubs,
is called a Weak Take-Out. It is made on a very weak hand,
totally unsuited for no trumps, and your only reason for
making the bid is that you consider that 2 in your suit is an
improvement on 1 NT. The opener must pass.

If you hold a hand with game values (9 points or more) but
unbalanced, force by bidding three of your suit. This is more
usual with a major suit. With a minor suit raise no trumps.
eg.:

(d & AJo76 (¢) & 762
Y K84 0 Q42
O3 O AKQS842
% Q1063 & 7
Bid3 & Bid 3 NT.

Conventional Response of Two Clubs (STAYMAN
Convention)

A response of 2 é» by the partner of the opener is conventional,
That is to say it does not carry the meaning it appears to have.
Conventional bids are usually artificial and they will only be
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understood by your partner if you have previously agreed on
the bid. Private arrangements between two partners are, of
course, forbidden. Certain conventional bids are, however,
accepted. But they must be announced at the start of each
rubber as the opponents are fully entitled to know what they
mean. This conventional response of 2 & was originally part
of the Acol system. It was later developed by an American,
Sam Stayman, and it has become known as the Stayman Con-
vention.
hafl:oming back to the response of 2 db, consider these two
ds -

é» KJ82 N ® Q1076
VAJ6 | ol VKQgs
¢ AQ3 O KJ4
® Qo2 ] % 54

Suppose West opens 1 NT: East could reply 3 NT. He has 11
points and is fairly balanced. But if clubs are led the defenders
could easily win six tricks. You would have been safer in
spades but, how can a spade contract be reached after an
opening bid of 1 NT ? East cannot bid 2 & as that would be
weakness and 3 € would suggest a longer suit.

The solution is this conventional bid of 2 &. This asks the
opener whether he holds four cards in a major suit. In this case
he now bids 2 & and East raises to 4 &. Had West held four
hearts he would have responded 2 ¢, and East would bid 4 .

West of course might not have held four cards of either major
suit. In that case he bids 2 ¢ - again an artificial and conven-
tional bid - stating he has not got four cards in either spades or
hearts. This is quite logical as 2 <) is the cheapest bid over
2 &. Now East will naturally give up any ideas of playing in a
major suit as there cannot be more than 7 cards at most in
either. So he will revert to no trumps and bid 3 NT, having
investigated the alternatives.

To employ this convention the responder should observe
two qualifications:

(1) He must be interested in the possibility of playing the
contract in a major suit as an alternative to no trumps. This
means that he must have at least one, if not both, four card
majors.

(2) He must be able to ensure the safety of the contract. This
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means he should have at least 8 points as he may have to return
to no trumps, and 1 NT-2 NT = 8 points. He may relax this
condition if he holds one 5 card and one 4 card major as he can
always retreat to the 5 card suit as a weak take-out.

If the responder holds a long string of clubs and a weak
hand he bids 2 & and follows up with 3 o as sign off.
Examples: Opener 1 NT. (16-18).

(@) d AJ76 (b)d Q643
V42 P K1o7s
O KQ8é O J43
& J86 &» 86

Bid 2 . Raisc 2 d to 4 . No Bid. You cannot afford
Bid3 NT over2 ¢ or2 Q). to bid 2 NT if opener bids
2 ¢ (should he have no 4

card major).
(c) & Q864 d) & 42
0 J9862 Q972
O 1053 oJ4
6 ® Q109876
Bid 2 . Pass 2 Q or 2 @. Bid 2 & and later 3 & over
Bid 2 Y over 2 §. 28,2 or2 { assign off,

The Stayman convention was originally part of the Acol
System but is widely played with the 2 Clubs System. It is
wise to agree on it before starting to play.

Weak No Trump
A one NT opening bid here implies a balanced hand of 12-14
points. As the opening hand is weaker more is needed to sup-
port but you still operate on the basis that 25 points combined
will be enough for game. Therefore:

0-10 points. Pass unless holding a long suit, in which case
you can make a weak take-out.

11 points. Raise to 2 NT.

I2 points or more. Raise to 3 NT.
Jump bids (1 NT-3 & or 3 ) are similar and require 12 points
at least. Use of the conventional response of 2 & (Stayman) is
similar but the necessary adjustment must be made due to the
weaker opener.

Opening Bid of 2 No Trumps
This is a standard range of 20-22 points and balanced shape.
Raise to 3 NT with 5 points or over.
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Response of 3 O or 3 & asks partner to raise to game in the
suit if he holds three cards; otherwise to bid 3 NT. In other
words a response of three in a suit is constructive and not a
weak take-out. A reply of 3 & (Stayman) is asking for a major
suit of four cards and works in the same way as 2 &b in reply to
1 NT. Some players use the 3 & reply to ask for any four card
suit, but this method is more complicated and has many
disadvantages. It is better to adhere to the simple method.

Opening bid of 3 No Trumps
This is a gambling type of bid and is based on a long solid
minor suit with not much outside, e.g.

» 76

Q)2

O AKQJ987

& 109
If doubled (see page I1) you can retreat to your long suit, but
in the meantime you may have created difficulties for the
opponents. This bid is more associated with the Acol System

and it is probably wisest to avoid using it until you have had a
fair amount of experience.

Prepared Club

Certain hands present a problem if you have agreed to play the
strong no trump, where your only biddable suit is spades or
possibly hearts. e.g.:

& KJj72
0 Q42
O A76
& K86

If you open 1 4 and partner responds in a new suit at the two
level you have no good re-bid as 2 NT would promise 15-16
points. In such cases you open I b to enable you to rebid
cheaply. This is an exception to the principle that a biddable
suit should contain at least four cards. The hand does not
contain enough points for a strong no trump but it is of no
trump shape and you have agreed with your partner to play the
strong no trump.

The Prepared Club is purely a makeshift device, a conven-
ience. It is not forcing and partner need not reply. It need not
be employed if partner has already passed as you are no longer

41



compelled to respond. Occasionally it is necessary if you

are playing the weak no trump, for example, if you have 15

points and your four card suit (a major suit) is too weak to

be biddable.

No Trumps Quiz

1. ?Vhich of the following qualify for the opening bid of 1 NT
16~18)

(@) # KJ762 (© # KQ2
¢ AQ6 QY Krio8
O Kz O AJ976
& Ag7 & K8

(b) & K103 d &3
0 AQS Y AQ43
O KJr07 O KJo8
& AQ2 & AKS86

2. Your partner opens I NT (16-18) playing the strong no
trump and the next player passes. What do you say on

(a) d# KJ4 (d) & 63
Q AJo9 QY 86
©J643 O AKQ1076
% 986 & 762
(b) # KJ43 (e) & AJ843
0 Q63 Y Kgz2
Q32 O K62
S A963 & 32
© & J98432
Q63
O 10942
&8

3. Your partner opens 1 NT (12-14) playing the weak no
trump and the next player passes. What do you say on

(@ Q742 (c) # KQro62
¥ KJ62 QO Az
¢ Qro8 O QJ6s
$ 103 » 42
(b) & AJ6 (d & AJ72
¥ KQ2 Q3
O A9g76 O KQ8é6

& 1072 & K543



Answers to Part Two No Trumps Quiz follow on the next
page.



Answers to No Trumps Quiz

8

(a) No. 5 card major. Open 1 é.

(b) No. 19 points. Open 1 .

(c) Yes. 5 card minor is all right.

(d) No. Singleton spade. Open 1 Q, 1  or 1 éb.

. (a) 3 NT. 10 points guarantees 26 combined.

(b) 2 & Stayman ~ asking for four card major.
(c) 2 #. Weak take - out.

(d) 3 NT. Don’t bother with the diamonds.
(e) 3 &. Forcing.

. (a) No Bid. You cannot afford 2 & as you cannot revert to

2 NT if partner says 2 .

(b) 3 NT. 14 points is enough for game,

?:) 3 &. Forcing.

d) 2 &. Stayman. Raise rebid of 2 & to 4 4. Otherwise
bid 3 NT.



Re-bids by Opener
ond Responder

Re-bid by Opener
The opener’s first bid at the level of one can vary to the extent
of being between 10 and 19 points. It may be an evenly divided

hand or may comprise one or more long suits. The first re-bid
should clarify “he position.

1. After Limit Response (see page 31). If partner has responded
1 NT (69 points) the opener will only rebid if he thinks he can
improve the contract, e.g. Opening bid 1 &, Response 1 NT;

(a) d AK103 () AK9762 (c) # AKS865

Y KQ7s Y K106 Y K103
0 J2 OJ7s O A6
& J83 b2 & K109
No Bid. 2 4. 2 NT.

On (a) the combined total cannot exceed 23 and may be only
20 points so that game is not possible. As the hand is balanced
leave it at 1 NT.

(b) is an unsuitable hand for 1 NT and will be safer in 2
with a six card suit.

On (c), a good hand, 23 combined points are certain and
25-26 are possible. Bid 2 NT and if partner has 8-9 he should
bid 3 NT.

Following a reply of 2 NT (11-12 points) opener can either
pass with a minimum and suitable shape, or raise to 3 NT
with spare values. With an unbalanced hand he can rebid his
suit at minimum level as a sign off, or he might bid game, e.g.
after 1 @ opening - 2 NT reply:

(d) & KQro86 () 4 KJ10975
0 Asg Y 32
g 47 g Jos
Bid317~IT. Bid 3 @. (Sign off.)

45



) 4 AQro975 (8)d AJ1075
Y A72 Y KQr1o6
O KJo9 O KJ9
& 6 S5
Bid 4 & Bid3 Q

On (g) partner must only raise 3 < to 4 < if he is holding four
trumps. He should give preference to 3 & with three and
appreciate that the opener is not keen on no trumps.

After a response of 3 NT opener will usually pass unless he
has a long suit, in which case he bids four in it.

After a simple raise (1 -2 0) opener will usually pass
unless holding 17-18 points, or 7 probable tricks in his hand,
when he can jump to 4 . A re-bid of 2 NT implies a balanced
hand of 17-18 points and a 4 card suit. A bid of 3 in a new suit
is termed a ‘trial bid’ and suggests that partner may be able to
bid game if he has a good raise and some help in the ‘trial’
suit. E.g. after openning 10-2< reply:

() & 64 (b) & 42 ) & 43
Y AQJ7s5 0 AQJ986 0 AQJ9s
O KQS8 O AK72 O K1086
$ Q386 ® 4 & AQ
No Bid. Bid 4 <. Bid 3 ¢.

On (c) you hope partner will convert to 4 < if he has a good
raise with some high cards (e.g. Q J) in diamonds. If he says
3 ¢ you pass.

Following a double raise (1 -3 ) you are likely to bid
game if there is any hope at all, but you are justified in passing
if your opening is minimum or you lack aces. If your points
are largely made up of queens and knaves the opponents can
probably win four tricks before you get in.

After an immediate raise to game (1 V-4 ) you will be
right to pass in the vast majority of cases as partner’s hand is
mainly distributional and not loaded with points.

2. After Non-Limit Response. If partner responds with one
in a higher ranking suit he may have as little as 6 points, but
may have a good opening bid. You are obliged to re-bid unless
your partner has previously passed.

A re-bid of 1 NT shows a balanced hand but outside your
agreed range for an opening bid of 1 NT. That is to say you
have a no trump type of hand which you did not open as such
because it did not qualify.
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Thus, if you are playing a strong no trump the re-bid of
1 NT = 13-15. If playing weak no trump the re-bid will show
15-16. A re-bid of 2 NT = 17-18 points and 3 NT = 19
points.

These figures are based on the fact that you need about
23-24 points to play in 2 NT, just short of game. If your
partner only promises 6 you need 17-18 to bring the total up
to the required figure.

A re-bid of one in a higher ranking suit guarantees no addi-
tional strength, e.g. 1 -1 P-1 &. Opener is merely showing
two suits and has not increased the contract. Nor does the
re-bid of a second suit at the two level, provided that it is lower
in rank than the original suit called. e.g.:

S. N.
1Q 16
290

South as opener does not indicate any extra strength than he
would if he had re-bid 2 Y. North can return to 2 7, but may
prefer to leave 2 . A single raise of partner’s suit is not
strong but should include four trumps. A double raise is
invitational and indicates about 16-17 points. A jump to
game would need 18-19 points. These figures can be reduced
if the opener’s hand is strong in distribution.

If partner bids two in a lower ranking suit he has increased
his side’s commitment and his minimum is therefore raised to
8 points. With less than 8 and a suit lower in rank than your
partner’s opening bid, call 1 NT as being the cheapest available
bid.

Following a response at the two level opener can rebid 2 NT
with 15-16 points and 3 NT with 17-18. This is due to the fact
that the partner’s share of the necessary 25 is greater, leaving
less for the opener to find.

After a forcing to game jump bid (1 -2 & or 1 Q-3 &) (see
page 32) the opener should re-bid more or less as he would
have done had the bidding been a level lower. e.g. after open-

ing 1 -3 & reply:
(2) d AQJ9s (b)#d AJ1086 () AQJ964
OV Kgq2 VK 75

4 J108 @ A
¢ QJ3 O A9y Q2
& 73 6 # KJé6
Re-bid3 & Re-bid 3 Re-bid 3 &
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Hand (c) is very strong and is likely to make a slam, taking
12-13 tricks. But there is no need to rush it. A jump bid in a
forcing situation shows a completely solid suit and not much
outside.

e.g.: I -3 &. Opener holds:

& AKQ9864

Q 74 Re-bid 4 &. (Game).

O K8

%32
Re-bid by Responder
If the responder has limited his hand by bidding either no
trumps or raising partner’s suit, he need not take further
action unless forced or invited to do so. For example if opener
makes a jump rebid (1 #-1 NT-3 ) he must bid again. If
opener raises a response of 1 NT to 2 NT responder is
expected to bid again if he is in the upper bracket, ie. 8 or 9
as opposed to 6-7. Or if the opener changes the suit after a
response of 2 NT e.g.

S. N.
14 2 NT
39

responder must carry on. He must not bid 4 Y with less than
four trumps. He should show preference for 3 & with three
and only reluctantly bid 3 NT if most of his strength is in
minor suits.

If responder has changed the suit (1 Q-1 Q or 1 -2 &)
his hand may vary to a large extent. Broadly speaking he can
bid on if he has reasonable values in excess of what he has
shown. E.g. if South opens 1 9, North replies 1 & and South
re-bids 2 ¥, North would then reply:

(@ AJ74 (b)s AJ72 )& A1072
Y K

Q43 43 Q3

O K764 O K1096 O K1086
& 1086 & 63 $ Qrov
No Bid. Bid 3 Q. Bid 2 NT.

With (a) you have nothing to spare. With (b) you hold 5
points more than you indicated so far and you have K x x
opposite your partner’s suit which you know is longer that four
as he re-bid it. With (c) you have § points more than you said.

In judging how high to bid follow the yardstick that an
opening bid facing another opening bid should produce a
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game if the hands fit. In other words, if your partner opens the
bidding and you can fairly say that, had you been dealer, you
would have opened, game is likely. It is not purely a matter of
points. If each of your hands comprises a distributional opening
bid and the hands fit, game is quite likely even though you do
not hold the vital 25 points. The total of 25 points is far more
accurate with no trump bidding, where distributional factors
and ruffing (trumping) do not arise.

Re-bid Quiz
I. With neither side vulnerable you open 1 &4 and partner
responds 1 N'T. What do you say on

(@ «KQJ9
O Ké4

O A743
®Jo

G

OTP PO3Id
BPRRARW R

~
o)
»

L »
- N
P35 Vv o
A“\. “:
Ad o

°
Y

What would you re-bid if partner had responded 2 NT ?
2. South opens 1 ¢ and North responds 2 ¢{>: South re-bids
2 NT. What should North say on

1
g
:
3
o)
g
?
Q
»
g.
Q.
g
3
8
=3
o
B
8
=
G
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Answers to Re-bid Quiz

I.

Response 1 NT. (a) No Bid. Too few points for game and a
suitable hand for 1 NT.

(b) 3 #. Seven playing tricks plus a king. You have 7
playing tricks as you should make § out of your 6
Spades, plus 2 tricks in hearts. You also have the King
of diamonds which may win a trick. Game is still pos-
sible if partner’s 1 NT is above 7 points.

(c) 2 Q. Shows no extra strength but offers a choice of two
suits. I NT unsafe with singleton club.

Response 2 NT (a) 3 NT. 14 plus 11 points = 25.

(b) 4 #. You expect to make 4 # so bid it. 3 & would be a
sign off.

(c) 3 . Not keen on no trumps. Inviting preference to

3 &.
. (@) 3 NT. You can provide six tricks. No point in re-bid-

ding 3 ¢ which would be a sign off. All your diamonds
are likely to win tricks because the AKQ will draw out
the knave.

(b) 3 Y. Forcing. You are prepared to go beyond 2 NT
and if partner holds a five card heart suit you wish
to be in 4 . If he has only four hearts he should
bid 3 NT. You cannot hold more than three hearts.

(c) No Bid. You have just your 8 points and not a particu-
larly good suit.
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Opening Forcing
Bids

The necessity for an opening forcing bid (i.e. a bid to which
partner is compelled to reply) arises when a player is so for-
tunate as to hold a hand with which he thinks he can make
game without any material help. ‘Why’, you may ask ‘does he
not just bid game ?* Firstly because he may not be able to judge
which suit to call or whether to bid no trumps. Secondly,
llzecause there might be a chance of a slam. Consider these
ands -

& AKQ1o6 N $ 753
© AKs543 0 862
O 2 w  El 59763
S Ag s & 865

Assume that the remaining cards are divided in a normal
manner and that West plays with spades as trumps. If he
leads out his top spades the knave will probably fall, giving
West five tricks. If he plays out his hearts he will lose the third
round and make altogether four tricks and the ace of clubs will
make ten. If spades were trumps it would be wise to play only
three rounds to start with and retain at least one for an
emergency.

West will have made ten tricks, enough for game, but if he
opens I & East cannot possibly make a bid and game will be
missed. It may take a round or two of bidding to find the best
contract and to ensure that the bidding does not stop too soon,
the opener’s partner must co-operate to the extent of ensuring
that he keeps the bidding open until game is reached. If the
second player bids, partner (in this case East) need say nothing
as the bidding must get back to West. Otherwise East must bid.
The conventional opening forcing bid is 2 .

(a) Negative Response is 2 ¢ (cheapest available bid as 2 &
is conventional). This denies either an ace and a king, or
8 points including at least one ace or king.

(b) Positive Response. Bid either a reasonable suit or 2 NT
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with a balanced hand. If your suit is diamonds reply 3 >, as
2 ¢ is negative.
After his negative reply, responder should next show a § card
suit on the second round or support his partner. If he can do
neither he bids 2 NT.
Reverting to the example above the bidding would proceed:

West East
2 29
2 & 2NT
39 34
46

West tries his second suit (hearts) but East should give
preference to the first suit so that West can then bid game,
Another example -

& AKQ106 N S 2
¢ AKé6s54 | | V8732
O 2 O 7654
S A6 s S 8743
Bidding -

West East

2d 29

24 2NT

3Q 49

Here East’s hand only appears to have any value when West
bids hearts. The final contract is sound but it has taken a little
time to reach. It was only reached because East manfully kept
the bidding open.

Of course, partner will not always have such a bad hand as
the ones shown. They have been purposely made out hopeless
to indicate the type of hand that qualifies for an opening bid of
2.

The qualifications are:

(1) A balanced hand containing 23 points or more

(2) A hand with 43-5 quick tricks which can reasonably

expect to take at least nine tricks.
With a balanced hand of 23 points the opener will re-bid 2 NT
following a negative reply of 2 ¢{. With 25 points opener
re-bids 3 NT.
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In the Acol System the partner is permitted to pass a re-bid
of 2 NT with a hopeless hand of less than 3 points.

In the 2 Clubs System the proviso whereby a re-bid of 2 NT
can be passed by partner does not necessarily apply and a 2 &
bid is forcing to game in all cases, except by partnership
agreement.

Opening Bids of Two other than 2 Clubs
As 2 & is used for all hands that are capable of making game
single-handed it is possible to use openings of 2 #,2 Q or2 ¢
as strong intermediate bids. In the Acol System these are
described as showing eight or more playing tricks with a good
6 card suit. Partner is expected to respond once to give the
opener another chance, 2 NT being the negative.

(1) Single raise. Trump support with a sure trick outside.
Most players expect an ace.

(2) New Suit at same level. (e.g. 2 -2 &). Reasonable 5
card suit with one trick, e.g.

® AJ1064
Q42
O 632
é 862
Respond 2 & to 2 Q.
(3) New suit at 3 level. Requires about 8 points as the
bidding has been raised. e.g. opening bid 2 &, bid 3 ¢ on

® 43

Y AQro7s
O K43
% 762

(4) Double Raise in Opener’s suit. Shows good trump sup-
port but denies an ace or void.

(5) Jump in new suit (2 -3 #). Shows solid self-supporting
suit withno losers AKQxxxx)or AKQJxx

(6) 3 NT. Balanced 11-12 points. Will not contain two
aces.

In the 2 Clubs System an opening bid of 2 {,2 Q or 2
may be made on a strong hand based more on points and is not
completely forcing. It is probably more satisfactory to employ
the Acol type bid, but in any case it is wise to agree on the
point with a strange partner.
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Two Bid Quiz

I. Partner has opened 2 & and the next player passes. What
do you say on

(a) & AK1062 (d) & KQ6
QD 432 Q 1087
0976 O Ko7s
54 d 654

(b) & J5432 (e) & 42
QK75 0 876432
O Qro8 O3
& 76 $d9762

(© & 43
0 J42
O AKJ86
» 876

2. Partner has opened 2 < (forcing for one round) and the
next player passes. What do you say on

(@) & 32 (© & AKQ10876
Q Als Q3
O KJ82 O 1086
é 10987 » 74

(b) & J42 (d & AQ864
\VAE ] 032
0 J7642 CJ32
S 8764 & 842
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Answers to the Part Two 2 Bid Quiz follow on the next
page.



Answers to Two Bid Quiz

1. (a) 2 &. Positive reply. Biddable suit with A and K.
(b) 2 ¢. Negative reply. Only 6 points. If opener rebids
2 NT, bid 3 & next round.
(c) 3 . Positive response. You must bid 3 { as 2 O
would be negative.
(d) 2 NT. Balanced hand. 8 points with 2 kings.
(e) 2 . Negative response. Bid hearts next round.
2. (a) 3 . Positive response. Trump support.
(b) 2 NT. Negative response.
(c) 3 &. Solid suit.
(d) 2 . Sufficient to bid new suit at the same level.
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Opening
Pre-emptive Bids

These are purely defensive bids at the level of three or higher
designed to make it difficult for the opponents to enter the
bidding safely or to be able to interchange information with
their partner with sufficient accuracy to reach a satisfactory
contract.

Consider this hand -

KQ109864

2
J1087

3

With only 6 points you have not got a proper opening bid.
Nevertheless, if spades were trumps you would take about 6 or
7 tricks. With another suit as trumps you would take barely
any.

If the opponents hold the balance of strength and are given a
free run they will probably reach their best contract. But if you
put up a barrage they may find it impossible.

Suppose you are South, dealer, and hold

You would open 1 ¥ and wait to hear what partner said. But
suppose that East, on your right, dealt the hand and bid 3 &;
then what do you do ? You cannot really risk 4 §? and you might
miss game if you pass. You have a problem.

Defence against Opening Bids of 3

1) Overcall with a strong suit (at least 6 cards).

2) Make a conventional call asking partner to bid his best
suit. There are various alternative conventional calls for this
situation but these two are fairly satisfactory.
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a) Bid 3 NT.
gb) Lower Minor. This means bid 4 & over all opening bids
of three except 3 . In this case bid 3 .
(3) Double. Penalties. Implies you expect to defeat the con-
tract. You should have strength in the opponents’ suit. High
cards in other suits are unreliable as they may be trumped.

Qualifications for Pre-Emptive Bids
éx) 7 card, or longer, suit.

2) Little high card strength. About 8 points maximum.
Less than two defensive tricks (tricks you expect to win even
though the opponents are playing the contract in their selected
suit or in no trumps).

53) No four card major suit other than the one bid.

4) Reasonable hope of taking six tricks if not vulnerable,
or seven tricks when vulnerable (being vulnerable was explained
on page I1). As you do not expect to make the contract and
your bid is purely defensive to prevent the opponents making
the best of their hands, you must not risk too big a penalty.

Action by Partner
In view of the known weakness of the opening bid partner will
usually pass.

With three or four quick tricks he can raise partner to game,
even with only one trump. The important thing is to hold aces
and kings that will win either the first or second round of a
suit.

Only respond 3 NT with a good fit in partner’s suit as you
will not be able to get into his hand, i.e. it will not be possible
to win a trick in his hand to enable you to continue playing his
long suit. This aspect will be explained later in the section on
play, page 93 et seq.
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Slam Bidding

A slam involves bidding and making either twelve or thirteen
tricks. In other words you can only afford to lose one. If you
achieve this you are entitled to a good bonus. The awards can
be found on the scoring table, page 122. Slams canbe considered
likely in the following instances —

(1) Where the combined total of points is 34. In this event
the opponents can only hold 6 points (2 kings or 1 ace and
1 queen).

(2) After a forcing to game jump bid, where the opener is
strong and would have forced had his partner opened. e.g.
South opens 1 & and North responds 3 ¢. South holds

& AKJ96
Y Kg2
O K84
& K6
If North had opened 1 ¢ South would have forced with 2 .

(3) If partner opens and makes a jump re-bid and you hold a
full opening bid. As an opening bid facing an opening bid will
usually produce game, an opening bid with jump, opposite an
opening bid should produce more than game.

(4) After a positive reply to an opening 2 db.

If you decide to bid a slam the most important cards are
aces. It is no fun to bid, say, 6 & and follow suit while the
opponent plays off two aces. There are various ways of finding
out about aces but the most popular method is the Blackwood
Convention.

Blackwood Convention

When the bidding has indicated that a slam is possible and it is
firmly established which is to be the final trump suit, a bid of
4 NT is conventional and asks partner to state the number of
aces he holds.

Response
5 & = No ace or, all four aces.
5 & = One ace.
5 © = Two aces.

5 & = Three aces.
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With no ace it is natural that you should make the cheapest
reply possible, hence 5 . If partner has only two aces himself
he will realize that a slam is not possible and will go back to
five of the agreed suit. If a player with all four aces bids 5 & it
means that his partner who has initiated the slam investigation
has none. It is hardly possible for neither player to hold an ace.

If the reply to 4 NT confirms the fact that all the aces are
jointly held, a bid of 5§ NT asks about kings and the responses
are much the same:

6 & = No king.

6 & = One king.

6 = Two kings.
6 & = Three kings.
6 NT = Four kings.

Cue Bids

A bid in a new suit at a high level when a suit has already been
agreed as trumps is a cue bid and shows first round control.
e.g.

South North
24 34
48

South says, in effect, “‘When we play eventually in spades I can
take the first trick if a club is led as I will either put on the ace
or I will trump it’,

Similarly, suppose over 2 &, West overcalls with 3 { and
North bids 3 . If South next bid 4 ¢ he would imply the
same message with diamonds. He could not possibly want to
play the hand in his opponent’s suit. Besides, spades have
already been agreed as being the suit that will eventually be
trumps.



Defensive Bidding

A player who makes an overcall or intervening bid is at a dis-
advantage compared with his opponents insofar that he has no
knowledge of the type of hand his partner will be able to
provide.

On the other hand, the opponent on his left who has heard
his partner open the bidding may well be able to judge that his
own cards, together with what he may expect from his partner,
may be sufficient to defeat the intervening bid. In such a case
he may well double, which means that if the contract is
defeated the resultant penalty is increased, more so if the
declarer is vulnerable, having already made one game. These
factors alter the basis on which an overcall is assessed. Instead
of judging the issue on points it is more important to consider
how many tricks you expect to make if you are left in.

There are several reasons for making a defensive overcall.

(1) To make a contract for your side, either part score or

e.
(2) Toharrass opponents and upset their bidding machinery.
(3) To indicate a sound lead for your partner if the player on

your left becomes declarer.

(4) To pave the way for a cheap sacrifice against the oppo-
nents. That is to say, you may, by outbidding the opponents
prevent them scoring game at a fairly economical price.

In making an overcall you should estimate that you will at
least succeed in making within two tricks of your contract if
vulnerable, or three tricks if you are not vulnerable. This means
that if you are doubled the penalty will not exceed 500 (either
200 + 300 vul: or 100 + 200 -+ 200 not vul:).

Some hands containing as many as 13 points do not qualify
as a sound overcall, while others with perhaps only 6 or 7 are
perfectly good. The following principles are given as a guide:

(a) Never overcall on less than a § card suit. At the two level

you should have a 6 card suit.

(b) The suit should be a good one that you can lead out from

your own hand without undue loss.

(c) The suit should be one that you are prepared for partner

to lead.

(d) Hesitate to make an overcall where much of your strength
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is in the opponent’s suit. In such cases your hand is more
useful in defence.
Examples -
Love All. South opens 1 <Y and you are the next player to
call.

(a #AQJ98 (b) Q3
Y 53 ¥ K1086
O 632 O KJ973
& 1087 »As
Overcall 1 &. No Bid.

On hand (a) your spade suit is quite good and a spade lead is
welcome. If you pass North might bid 2 NT and be raised to
3 NT, and partner will be unlikely to lead a spade as he will not
be aware of your strength in the suit. The question of opening
leads is considered in detail in the section on defensive play,
page 69.

On hand (b) you have a broken suit of diamonds that would
suffer badly if you had to lead it from your own hand. Your
strength in opponent’s suit (hearts) makes the hand more
valuable in defence and if you stay quiet they will probably go
down (be defeated).

Informatory Double

You may sometimes be confronted with a hand containing
about 13 or more points that has no § card suit, yet provides
good support for any suit other than the one opened. It seems
a pity not to be able to compete and the problem is how best to
set about it. The solution is to make an informatory or take-
out double.

So far the term ‘double’ has always implied that you do not
expect your opponent to fulfil his contract and that by doubling
you expect to extract a larger penalty. This holds good,
partia)llarly at high levels and in certain other instances (see
below).

But suppose South deals and bids 1 ¢, then you, West, can
double with the following in mind. Namely, how often could
you hold a hand with which you could genuinely expect to
defeat a contract of only one diamond ? Remember your partner,
so far, has had no opportunity to bid and you have no idea
what he has. Short of a freak deal, there could be no such
occasion. And therefore a double in such circumstances is
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treated as conventional. It asks your partner to respond in his
best suit.

Put briefly, the double of a suit call at the level of one or two,
when partner has not yet bid, is informatory and requests
partner to bid his best suit no matter how weak. e.g.

South opens 1 ¢ and you, West, hold

(a #KQ9é (b) & A1086
0 AQ74 Y KJo8
32 O 2
S AJ3 & K1098

In each case you double. You are prepared for partner to bid
any suit and hope he will choose a major. One way of looking at
it is this. If you feel that it is better that partner selects the suit
as you might pick the wrong one, you double.

The amount of strength required is about 13 points or
more, but the distribution must be taken into account. If you
have three cards in opponents’ suit you have three ‘passen-
gers’ and only ten cards left to support your partner.

In hand (b) you have only one card in their suit and con-
sequently twelve active cards; this justifies you in doubling on
only 1I points as you are quite happy whatever suit your
partner calls.

You need to be a little stronger if you double 1 4 than, say,
I &, as your partner is forced to reply with two of a suit over
I &, but need bid only one of a suit over I db.

Action by doubler’s partner

If the third player passes, the doubler’s partner is compelled

to bid and should call his best suit at the cheapest level. e.g.:
West doubles 1 ¢ and North passes. East holds -

(@) & 10742 (b) & AJ9o86
QD 43 Q Ké6s
O 654 O 73
» Q876 & Q108
Bid 1 &. Bid2 .

Hand (b) is quite a bit stronger than hand (a) so it would be
misleading to make the same bid. Bidding 2 & shows about
8-11 points and invites support but is not forcing. If there is an
intervening bid there is no obligation for the doubler’s partner
to speak as the double no longer stands and the bidding will go
round to the doubler again anyway. In other words the double
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is superseded by the subsequent bid. But you would still bid
with a reasonable hand. With hand (b) above, substituting low
cards for the king of hearts and queen of clubs it would be
correct to call 2 4 if North bid 2 < after West, your partner,
has doubled 1 0.

Action by Opener’s Partner

After the opening bid has been doubled the only strong bid
available to the opener’s partner is re-double. This term has
not so far cropped up. It is the counter to a double. If you
bid up to 4 & and I think I can defeat you I can double (for
penalties).

But if you are totally confident of making the contract you
may re-double. If you are successful your score is doubled up
again; the original 120 becomes 480 plus 50 bonus for making
the re-doubled contract. If you fail the penalty is proportion-
ately increased.

In the present stage of the bidding re-double is still a gesture
of confidence but it is unlikely to remain undisturbed because
a contract of, say, 1 & re-doubled would be game if made
(2 X 30 = 60,2 X 60 = 120).

Re-double, after the opening bid is doubled, promises about
9 points or more, but not necessarily support for partner’s suit.
It carries the message “We have the better hands and should
make a score. Either we will make a contract of our own or
double our opponents for penalties when they retreat’.

Apart from re-double, any other bid is purely defensive and
is designed to obstruct the doubler’s partner. Thus if after
South has opened 1  West doubles and you are North with:

(@ & 32 (b) & 32 (c) #KJ96
Y Qro86 Y K9864 ¥ 42
O K742 O Kro74 O AJ86
& 732 & 73 & Qo3
Bid 2 Q. Bid 3 Q. Re-double.

A bid of a new suit need not be strong but should be playable
and contain § cards. A bid of 1 NT shows about 7-8 points
balanced.

Action by Doubler’s Partner after Re-double.

After the opener’s partner has re-doubled, the next player, on
the right of the opener, is not compelled to bid at all. However,
he should try to help his side by making a cheap bid. E.g. after
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South opens 1 ¢ and West doubles, and North re-doubles,
East holding -

(a) & 8642 (b) & 43
0 63 Y 7642
09742 O 8765
732 but #9943
Bids 1 . Passes.

Jump Overcalls (1 -2 &) show a good suit and about seven
playing tricks. They are not forcing. An overcall of 1 NT needs
to be strong (16-18 points) including at least one stopper in
opponents’ suit. It is risking a large penalty to overcall 1 NT on
a moderate hand.

If the opponents’ hands are known to be limited in strength
it is permissible to compete with less than the strength
recommended above. E.g. South opens 1 ) and the next two
players pass. It is safer for East to call now as the opponent on
his right cannot hold more than about 5 points.

Penalty Doubles

A double is considered to be for penalties whenever partner
has made a bid. Also, doubles of contracts at the level of three
or higher are generally regarded as penalty.

Doubling contracts at the two level often produces good
results as the overcaller has little knowledge of what is against
him. Care must be taken as an unsuccessful double may present
the opponents with game. But if you hold two probable tricks
in the opponents’ suit with a trick outside and not more than
two cards in your partners’ suit, a double is likely to succeed.
With good support for partner’s suit you are better advised
to raise him.

Doubling high contracts is more dangerous as the opponents
are better able to judge their values the longer the bidding goes
on. Therefore to double a game or slam that has been freely bid
is likely to lose more than it will gain.

Even if you hold two aces against a small slam in a suit
you must not double. Either the opponents have made a
mistake or they haven’t. If you make both your aces you should
be satisfied to score 50 when you never expected to score at all.
The risk if you doubled is if one opponent is void in a suit
and the small slam is made. Because then you present your
opponents with a further 230 points. If they re-double your
loss is much worse.
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Defensive Bidding Quiz

1. At Love All South opens the bidding with 1 ¢. You are
West. What do you say on -

(a) & AKJ98 (d & KJo

D 43 Y AQS8

O 1086 O KJoq

& J43 é K109
(b) & 43 (e) & 63

0 J7642 Y K86

O KJo8 O AQr1086

& A6 ® Qo4
(c) # K1086 (f) # AKQ1086

Y AJ98 0 43

O 43 O 76

S AJog dAJo

2. With East-West vulnerable, South, your partner, opens 1 )
and West doubles. What do you say on -

(@) & 43 © QQJIO943
Y Q976
O K1072 <>J7z
S J32 » 864

(b) & AJo7 (d & Kgé6
V32 Q 943
O K1086 O K743
& Q85 & Qo8



Answers to the Part Two Defence Bidding Quiz follow on the
next page.



Answers to Defensive Bidding Quiz

I. (a) 1 &. A suit you want led. You are not risking a big
penalty by overcalling.
(b) No Bid. A bad suit and you are strong in opponents’
suit.
(c) Double. Asking partner for best suit.
(d) 1 NT. Strong, with good cover in their suit.
(e) No Bid. Hope they go on in diamonds.
(f) 2 &. Strong overcall. Not forcing.
2. (a) 2 Q. Defensive.
(b) Re-double. 10 points. No promise of heart support.
(c) 1 &. A playable suit. Not forcing.
(d) 1 NT. 8 points. Balanced hand.
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PART THREE

Ploy
The Defendevs’ Game

The Defenders’ Game

Note: In the Play Section, the play of a card will be indicated
by first the symbol of the suit followed by the number of the
card. Thus & 5 means the § of spades; & K = king of clubs
etc. As soon as the bidding has finished and the final contract
has been established, the play period starts. The player on the
left of the declarer makes the opening lead.

The Opening Lead Against No Trumps

In defending against a no trump contract the main object
must be to establish a long suit against declarer. If you can
lead out a card to which no-one else can follow suit your card
must win.

If your partner has bid it is almost invariably correct to
lead his suit, as a suit that he has bid is probably better than
your own. The mere fact that the opponents have called no
trumps over it is no justification for not leading it.

In most cases you lead the top of partner’s suit. But if you
hold 3 or more cards headed by an honour you lead a low card
in order to preserve an honour behind the declarer. Example:

453
N
® Q72 |wW E| & A10964
s
& KJ8

South is declarer in no trumps after East has bid spades. If
West leads & Q, South will take two tricks, but if West leads
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& 2 and East plays & A, South will only make one. East can

appreciate that his partner has not led his highest spade, for if

that were the case South would hold K Q J 8 7 which would

hardly be consistent with the bidding. If your partner has not

bid it will in most cases be best to lead your own longest. If

)f’rour suit is headed by a sequence you lead the top card. Thus
om:

QJ1076 leadQ
J1i0o976 lead J.

If the third card is one step removed from the second you may
still treat it as a sequence, e.g.

fromKQ1097 leadK
fromQJ 964 lead Q.

The reason that you lead the top of a sequence is this. Suppose
you hold Q J 10 7 6 3 and lead the queen which forces out the
king, when you regain the lead you play knave which drives out
the ace. Now your ten has become a winner and probably the
others also. You can afford to lead a valuable honour if you
have an adequate replacement.

Suppose, however, your suit is not so solid. Now you lead
the fourth highest card. This is the fourth card from the top,
e.g. from K 10 8 6 3 lead the six. You cannot consider leading
the king, because you have no replacement, your next best
card being the ten. Some people consider it right to lead fourth
highest always, but this does not apply if you have a sequence.
Consider this position -~

® K43
N

# QJ7s52 |W El &8
s

d A9g6

If West were to lead his fourth highest, & 7, South, with
dummy, would win three tricks in the suit as 4 9 would take
the first.

To lead your longest suit is correct in most cases as you are
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hopipg to establish it. But if the opponents have bid your suit
which consists of, say, Q 8 6 4 2, your chances of making
tricks by leading it are very small. In such cases it is best to
play an unbid major suit. The reason for this is that the oppo-
nents are likely to call a major suit if they are strong in it,
whereas they may not necessarily show a minor as game re-
quires so many tricks.

The Opening Lead Against Suit Contracts

Here the alternatives are more varied. If partner has bid it is
wisest to lead his suit, again leading a low card if you have
three or more headed by an honour. But if you hold the ace of
his suit you should lead it as it might later be trumped. If your
partner has not bid you have to decide for yourself and the
various alternatives are as follows —

(1) Top of Sequence. E.g. KQJ, QJ 10 etc. A sound lead as
it is constructive and gives nothing away.

(2) Ace orKing from a suit headed by A K. The advantage
here is that you will probably win the first trick and will be in
command when you see dummy. You will then be able to
decide whether to carry on with your suit or switch to another.
In this you will be guided by your partner’s play and this aspect
of defence will be explained later under Signals.

From a suit headed by A K it is equally correct to lead
either the ace or the king. But as the king is also led from a
sequence headed by K Q difficulties may be encountered when
a player leads the king which may be from either combination.
For this reason modern practice favours the lead of the ace from
a suit headed by ace and king.

This may also be a convenient moment to illustrate one of
the fundamental differences between defending against no
trumps and against a suit. Holding A K 7 6 5 against no trumps
it would be correct to lead the six (fourth highest) and this is
because you are planning on a long term policy. You do not
mind giving up an early trick if it means making four later.
But against a suit declaration you must try for faster tricks.
After two rounds a suit is likely to be trumped and therefore you
must lead your ace and king.

(3) If you have no sequence and no suit headed by A K, you
still lead fourth highest of your longest suit. But it is bad to
lead a low card from a suit headed by the ace. You may lose to
a singleton king or you may allow declarer to make an un-
necessary trick. E.g.

71



@ 4 K

N
® A10762 |w Ef 6 QJ98
S
® 543
® # 852
N
® A1076 |W El &QJ9
s
& K43

In (a) if & 6is led, @ K wins, and West may never make his
& A as it may be trumped.

In (b) if West leads & 6, South, being last to play, will make
a trick with his king. It would also be poor play for West to
lead out his & A as it would only attract low cards. If West
holds on to his spades and waits for the suit to be led to him
he may capture South’s ¢ K.

There is a common belief that it is a major crime to lead
away from a king. There is an element of risk attached, but it
may not necessarily be fatal -

¢ QJs
N

& Kro72 |w E é 863

s

S A9y

If West leads & 2 and & Q is played from dummy and wins,
West has certainly got off to a bad start. But, providing he does
not again lead from his king he will still make it. All that has
happened is that the king, normally a winner on the second
round, has been demoted to the third round.
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A lead from a queen or knave is more dangerous.

(a) & J106

& Qo975 |W E| #832

(b) & K106

® Q742 |w E| #]J8s

® Ag3

In (a) if West leads @ 5 and & 10 wins in dummy, he will
never make a trick with 4 Q which has been relegated to a
winner on the fourth round.

In (b) if West leads # 2 and & 6 is played from dummy and
East plays & J South will win with & A. By playing & 3 from
his hand, South can make all three tricks in the suit, for if
West follows with & 4, & 10 in dummy will take the trick.
If West puts on & Q it will be taken by & K. East and West
would have made a trick between them had they not led the
suit.

(4) With none of the more attractive leads available you may
elect to lead from three small cards. You are not so much
concerned with trying to establish tricks, although you may be
successful in doing so, but rather hoping to give as little help
as possible to the declarer. With three small cards some players
lead ‘top of nothing’ e.g. from 9 6 4 they lead the 9. This may
create problems for the partner who cannot decide whether
you hold 2 or 3 cards in the suit. An alternative is to lead the
middle card and play the higher one next time. Thus with
9 6 4 lead the 6 and follow up with the 9 next round. This is a
convention called M.U.D. as the initials stand for middle-up-
down.

(5) The lead of a singleton (one card) or doubleton (two
cards) is a gamble that may or may not succeed. The best time
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to try such a lead is if you hold some control in trumps, such as
ace and two low cards. You will regain the lead with the ace of
trumps and can then try to put partner in so that you can trump.
With nothing in trumps you may lose control of the hand.
Another occasion when the lead of a singleton is correct is with
a very bad hand when the bidding has stopped at game. If you
hold only two knaves your partner must have some high cards
or the opponents would have tried for a slam. If he should hold
the ace of your singleton and a side ace you can defeat the
game contract immediately.

Conversely, if you hold about 12-13 points a singleton has
little chance of success as your partner cannot hold the high
cards needed for your plans to work.

(6) It can often be correct to lead a trump. If the declarer
has bid two suits and you are strong in his side suit (i.e. non-
trump suit) you can hope to win tricks in it. But dummy is
likely to be short and will be able to trump. You may prevent
this happening by leading trumps.

Another occasion is where you hold a good hand, as for
example:

é Ji03
0 KJ75
O A73
H»KS6

Declarer on your right opened 1 4 and his partner raised to
3 @ and declarer bid 4 4. As you hold 12 points it is unlikely
that your partner will have much, so that the burden of defeat-
ing the contract is likely to fall on you. Rather than try to set
out to win four tricks you are better off to sit back and hope
declarer loses four tricks. In other words you play a passive
game, trying to give your opponent as little assistance as
possible. You start by leading & 3 (not an honour) in case
partner has an honour by itself. Each time you get the lead
you play something that gives nothing away.

Had the bidding suggested that any hand held a long suit
other than trumps you might have had to make a more aggres-
sive lead in order to try and build up four tricks before the
opponents had time to discard their losers on the long suit.

Signals
With dummy exposed the declarer (who, as explained on page
14, plays dummy’s hand) is in a better position in that he can
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see his partner’s cards and can manipulate them to the best
advantage. Although the defenders can also see dummy, their
own hands are concealed. In order that the defending side can
make the best use of their material it is necessary that they
should co-operate, using established methods of signalling to
indicate whether to continue with a certain suit, or switch to
another, and, if so, which.

Most common of the signals is the high~low play, sometimes
referred to as a ‘peter’, to indicate a desire for a suit to be
continued. Two possible reasons for wanting partner to carry
on with his suit are one, that you can win the third round with
a high card, or two, that you have only two cards and will be
able to trump. Here are two examples. It is assumed that
spades are trumps -

(@ V754

Y AKé63 |w E|l © Q82

(b) VJoz2

Y AK864 |W B| V73

© Qros

On hand (a) West leads ¢ A which implies probable possession
of the king. East plays ¢ 8 because he hopes to take the third
round with ¢ Q. Had he held ¢ 8 7 2 he would have played
Q 2 as he had no reason to think that a continuation of the
suit will be beneficial. On hand (b) East plays ¢ 7 on ) A.
West continues with ¢ K and notices his partner’s play of
Q 3, completing a high-low signal. He carries on and East
ruffs (i.e. trumps) the third lead which would otherwise have
been won by the ¢ Q in South’s hand.

A card is considered encouraging if it is roughly 6 or over.
More accurately it should be described as a card that can be
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identified as not being your lowest. If your partner leads an ace
or other high card that you cannot beat the natural inclination
is to toss on it your lowest card. If, therefore, you are noticed
to play a card that is nor your lowest it is logical that you should
be trying to convey a message.

If you are dealt 9 2 it is very convenient as your 9 will regis-
ter. But if you have 3 2 all you can do is to play 3 to the first
trick and hope partner is alert, realizes that the 2 has not
appeared and comes to the conclusion that you are starting a
high-low signal.

Just as the play of a relatively high card is an encouragement
to carry on, similarly the play of a low card is a warning.
Signals are not unlike traffic lights and if your partner plays,
say, the 2 it is a red light. You should stop unless you are sure
of your ground, e.g.

$ QJ76
N

é AK109 |W E|] & 8542
s

43

West leads & A on which East plays & 2. If West ignores the
signal and lays down his ¢ K South will trump and & Q J in
dummy will be winners.

In discussing on page 71 the lead of ace or king from a suit
headed by A K it was pointed out that difficulty might arise if
the king was led first. Consider these examples:

(a) ® 764

& KQro9 |W E| )82
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() ® 764

N
& AK109 |W E| #]J82
s
® Q53

On hand (a) West leads # K. If East should play 4 2 and
South plays # 3, West should switch to another suit because
South may have played # 3 holding 4 A J 3 and be hoping to
lure West into carrying on with his suit and fall into a trap.
But on hand (a) East should play & 8 as his & J is a valuable
card if his partner holds ¢ K Q.

On hand (b) if @ K is led it would be wrong for East to play &
8 for in this case West would next play & A and South would
make a trick with his & Q later. But if East plays & 2 and West
switches to another suit, South’s @ Q will be captured later by
& K. If the lead of K is liable to be either from A Kor K Q it
is almost impossible for East to know what to do. That is why it
is recommended that with a suit headed by A K the ace is led.

It is justifiable to start a high-low signal with the knave,
especially if the other card is very low. Holding J 2 you play the
knave first for if you play the two partner will assuredly stop.

But it is not usual to ‘peter’ with the queen. In fact, if
partner leads the ace of a suit (A from A K) the play of the
queen is a conventional way of indicating the knave, so that
partner can play a low card on the next round to pass the lead
to you. The queen could be the only card you hold in that suit
in which case you would trump next time.

Another common form of signal is the discard of a high card
to indicate the suit you would like partner to lead when he has
the chance. For example, if spades are trumps and the dia-
monds are distributed as follows —

¢ Ké63

o107 |W El O AQJS82




South leads out trumps (spades). East cannot follow suit and
discards <) 8. This tells his partner to lead a diamond when he
gets in. Suppose South is declarer in no trumps and West has
succeeded in establishing his long suit (spades) and has 2 or 3
good cards to lead out when he obtains the lead. Apart from
his spades West holds ¥ A 9 2. At the first available oppor-
tunity he should discard <Y 9, a high card telling his partner
which suit to lead if he gets in and cannot return a spade.

General Principles

There are certain precepts relating to defensive play that are
apt to be laid down without any particular reason being given.
They are given the appearance of government regulations.
Basically they are sound but it is necessary to know the
reasons.

1. Second Player Plays Low

If you are second player, your partner is fourth and last.
Therefore he will be able to judge more easily whether to
play a high card or a low one. Consider the following example -

® K76
N

$ Q52 |w E| ®# A1093
S

® ]84

South, needing to make a trick in spades, leads & 4. There
can be no point in West playing 4 Q ‘to force out 4 K’ If
# 7 is played from the table East can surely beat it. If 4 K is
played East will either be able to win with 4 A or play a low
and useless card if he has not got & A.

But ‘second hand low’ must not be accepted blindly. If you
urgently need to take the trick as second player you should
play high. It is generally correct to play low when you cannot

be sure that your best card will be high enough to win the
trick. But -
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N
6 K2 |W E| & 1087
S
® A9é63

South leads # 3 from his closed hand towards & Q J 5 4 ex-
posed in dummy. You are correct to play & K second in hand
because your card will take the trick. Moreover, if you play
low and your partner does not hold & A, your & K will fall
next time to the ace.

2. Third Player plays High

If the first two players have contributed small cards it is
logical that you should play high in order that you may try and
win the trick. If it does not win, your high card may dislodge
a big card from declarer and thus assist your partner. For
example, South is declarer in a no trump contract and West
leads his fourth highest heart, his longest suit —

V65
N
©QJ743 |W E| VK92
S
Y A108

Dummy plays ¢ 5 and you, as East, must play ¢ K. If
South takes this with ? A you may be sad to lose your valuable
king, but you have succeeded in promoting your partner’s
Q J to winning cards and if your side can regain the lead you
will win four more tricks in hearts. Suppose you had played
9 on the first round, declarer would win with Y 10
and still hold Y A to control the suit.
In playing high as third player it is correct to follow with the
lower of cards of equal value and in sequence. The reason for
this principle will be clearer with this example -
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N
& K10872 |w El & Q]J6
S
® Ags

Against South’s contract, either in a suit or no trumps West
leads & 7 and dummy plays & 3. If East plays & J and South
wins with & A it is clear to West that East also holds & Q, for
otherwise why should South use his ace when he could have
taken & J with @ Q? But if East follows with & Q and South
wins with & A West cannot draw the same conclusion as it
needed & A to win against @ Q. In fact, if West thinks his
partner has played correctly he will assume that South
holds & J. Of course, if dummy has taken the trick, the third
player will not waste a high card. -

é Aq
N

& Q10863 |W Ef # Koggz2
S

®Js

Against South’s contract where hearts are trumps, West leads
& 6 and the trick is taken by dummy & A. Although dummy is
second player, South considers it expedient to win the trick
and plays his high card. There is no longer any point in you,
East, playing & K as you would have done had & 7 been
played from the table. You would, however, be right to play
& 9, a high card, as a signal to partner that you hold a strong
card in the suit he led (see Signals page 74).

It is not always necessary to play your highest card, par-
ticularly when there is an honour in dummy -
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N
®J942 |W E| 4 AQ3
s
d 1087

West leads # 2 against South’s contract in hearts. When & § is
played from the table you can play ¢ Q (not & A) as this is the
lowest card able to take the trick. This is a fairly obvious case
but in the next example the purpose of not playing your highest
card is to retain an honour card over dummy.

(@ ® Q76

® J9o84 |W E| # K1os

®) % Q93

& K10874 |w E| & AJ2

S 65

Against South’s contract in no trumps West leads 4 4 on hand
(a). When & 6 is played from the table East should play & 10.
This is not his highest spade but he wishes to keep # K sitting
over @ Q. Ifhe plays @ K and it is taken with & A, South will
later make & Q also. Supposing South had held @ A J 3 and
West 40 9 8 4 2 and led & 2, East’s & 10 would be taken with
& J but with & K placed over é Q South would make only
two tricks instead of the three he would win had & K been
played, giving South & A, & Jand & Q.

On hand (b) if & 3 is played on the opening lead of & 7,
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East plays & J. If South held # K he would always have
made one trick and he would make both ¢ Q and & K if East
were to put up & A first time.

In hand (b) it is possible for East to be certain that & J will
actually win the trick, for he can apply what is termed the rule
of eleven.

Rule of Eleven

If a card led can be assumed to be the fourth highest card held
in the suit, by subtracting the value of the card led from
eleven, the balance remaining represents the number of cards
higher than the one led which are distributed between the
remaining three hands.

Suppose you set out all the cards in one suit viz.

AKQJ1098765432
and assume, as in hand (b) that 7 is led. There are altogether
7 cards in the pack above the 7. Of these three must be with
West as his lead was the fourth highest. Consequently the
remaining four are missing. Hence the calculation 11 — 7 = 4.

Now back again at hand (b) when & 7 is led. You take 7
from 11, getting the answer 4 which means that there are in all
4 cards higher than the 7, which are missing from West’s hand.
In dummy you can see Q 9 and in your hand A J so South
cannot have any card higher than the 7. Ticking off the cards
that are visible West’s suit must be headed by K 10 8 7.

The Rule of Eleven is of value also to the declarer as we shall
see later. But this brief explanation of it may also clarify the
earlier advice that the fourth highest card is led. Not just a low
card, but the fourth highest, to enable your partuer to locate
some of the outstanding high cards.

3. Leading Up to Weakness

This is a logical expression for it means that you put the de-
clarer into the position of having to judge how high a card he
should play as second player.

® 643

6 K87 |w E| #Jro9s




If Bast leads & J South can see that dummy is incapable of
winning the trick. He has to guess whether to make certain
with the ace or try his luck with the queen. If East held lower
cards, e.g. 10 6 4 2 it would be correct to lead a low card to the
weak suit in dummy.

4. Leading Through Strength

This is the natural companion to leading up to weakness as it
may compel declarer to play a high card if second player in the
hand. It is safer to advise leading through short strength. If
dummy holds A J 10 6 5 in a suit it would be dangerous to play
through it as you will merely establish the suit and very likely
trap your partner’s queen in the process. Consider the
following

(@) d AJ106
N
$ 843 |W E| #Q75
S
& Kog2
(®) s AQ7
N
é 1096 |W E| #KJ82
S
%543
(©) & AKS
N
#7654 (W Ef & Q92
S
% Jro3

In hand (a) if West leads a club and South plays dummy’s
& 10 it will not matter whether or not East plays his & Q as
the defenders are most unlikely to win a trick anyway. In hands
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(b) and (c) a club lead by West is safer as East can hardly hold
an honour that can be trapped.

A reasonable principle is to avoid leading through strength
in dummy that is missing more than one of the top honours.

5. Covering an Honour with an Honour

The basic principle for covering an honour with an honour is
that when two or more high cards fall together the lower ones
left in become promoted, For example, the queen will nor-
mally take a trick on the third round after the ace and king
have been played. If, however, the king is led and taken by the
ace, the queen moves up and becomes the highest card on the
second round.

s Q

N
S Jo |W E|] 4K
S

A

West leads & J which is covered by & Q, & K and & A. This
clean sweep of honours leaves West with the master & 10.

It is only reasonable to cover an honour if there is a fair
chance of promoting a trick for yourself or your partner. E.g.:

]2
N
® 1073 |W E| 6 K54
S

® AQ986

If & J is led from the table and East plays & 4 and South plays
# 6, & ] will win. This is an example of a finesse, which will
be described more fully later. If South continues with & 2
and covers East’s & 5 with & Q he will win all five tricks as
& K will fall to & A.

But consider what happens if East covers & J with ¢ K. He
will lose it when South puts on his @ A. The next round will
be taken by & Q and this will leave West’s & 10 as a winner.
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Of course, East could not know that his partner held & 10,
but he stood to gain by covering. If there is no possibility of
gaining a trick, do not cover, e.g.

(@ & AJr0987
N
$ K432 |w E

& Qled S

() ®J9743
N

w E| 6 K2
s

In hand (a) South in no trumps leads & Q. There can be no
point in covering with & K as all dummy’s cards will be
winners. You must hope that South holds only two clubs at
most and will be unable to keep leading the suit.

In hand (b) South has opened 1 & and North has raised to
4 & ~ the final game contract. South enters dummy by winning
a trick with, say, ¢ A, and then leads & J. East must not
cover because South must hold 4 or § spades and West cannot
hold anything that might become a trick. It is still unlikely that
East will make a trick in spades unless South plays & A,
hoping that 4 K is single in West’s hand. But if he does, then
East’s @ K becomes a winner. If you play ¢ K on & ] there
is a risk that partner holds & A or & Q alone and it falls on
your king.

A further example, showing where it is wrong to cover the
first time is this ~
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South leads ¢ Q from dummy. Suppose East covers with ¢ K
and South wins with ? A. To an extent East has achieved his
purpose in that his partner’s 10 could be a winner on the
third round. But suppose South next leads ¢ 5 and, when
West plays ? 7, he takes a chance and puts on 9 9 from the
table, West’s ? 10 will now be trapped by ¥ J and the
defenders will not make any tricks. East should play low on
¥ Q. If this wins, < J is led. East is in just as good a position
to play K, and now, if South wins with ¢ A, West’s ) 10
will take the third round as dummy no longer holds a high card
in the suit.

In other words, do not cover the first time if you can equally
well cover the second.

To conclude this section we will give some hands from actual
play illustrating defensive plays.

® K542
Q QJro
O Q92
L X)
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3
N
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® AQJ98
V52

O KJro
$ AKs

South opened 1 & and West overcalled with ¢ 2. North
supported his partner to 2 4 East had to pass and South bid
4 & with his good hand. The contract should have been de-
feated but it was allowed to succeed. West led ¢ A and East,
feeling that with his dismal hand he would not be playing a
very important part, contributed ? 3. West correctly inter-
preted this as a discouraging card and switched to & 6, to
which the others played ¢ 2, & Q and & K. South next drew
trumps by playing & A and Q and played his last heart which
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West won with 9 K. West returned a club forcing & A,
leaving South with the losing & 5. But South was able to get
into dummy with & K and lead the good ¢ Q on which he
dj§<i?srded & 5. He lost a third trick to ¢ A but make ten
tricks.

East was at fault. When he played ¥ 3 he was telling his
partner it was unsafe to carry on with that suit. He would have
played 3 if he had held ¢ 8 5 3. In that case, if West
thoughtlessly plays out 9 K, South would trump, having no
more hearts and Y Q would be established as a winner.

The correct play by East was 8. West would next lead
@ K and East completes the high-low signal with ) 3. West
continues the suit and East trumps ) Q with & 7 and South
overtrumps with & 8. But there is now no chance to discard
& 5 on Q Q and declarer must lose four tricks.

In the next example South made his contract of 4 & al-
though there appeared to be four certain tricks for the de-
fenders. The reason why these four tricks failed to materialize
was that a suit was blocked. That is to say, a player had a
winning card that he was unable to play owing to the fact that
it was his partner’s lead and his partner had no more of that
particular suit.

éJo7

Y Qro

09653

& AK]J3
$ 63 N ® 52
v83z | | VA97s4
O KQJro O A7 Hand 2.
9764 s & 10852

& AKQ1084

Y KJ6

O 842

®Q

Against the 4 & contract West led { K, top of the sequence,
and East played ¢ 7. West continued with { Q and East had
to play ¢ A. Having no more of the suit to lead, he laid down
Q A but that proved to be the last trick for the defence. South
took the next trick with ¢ Q. After playing two rounds of
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trumps he was able to discard his losing diamond on one of
dummy’s high clubs.

Although it might appear grossly extravagant to take your
partner’s king with your ace there are occasions when it is
necessary. This is such an occasion. Because of the high lead ¢ K
East knows that his partner holds ¢ Q and possibly also ¢ J.
If he takes the first trick with his ¢ A and returns ¢ 7 to
¢ Q, he can, if necessary, trump the third round. As it is,
West will play ¢ J on <> 7 and lead ¢ Q. On this East should
discard 9, a clear signal for West to lead a heart.

A similar position occurred on this hand played by South in
3 NT.

é 764

@ KJ9

O KJo87

S K2
é® QJrog94 N é K2
V32 - g| ¥ 87654 Hands.
O Aé6s O 32
® Qo3 s » 9654

6 A83

Y AQro

O Qrog

S AJ87

West led & Q, the top of a sequence from his longest suit.
East played & 2 and South & 3. South could have taken the
trick but thought it best to hang on to his 4 A. This type of
play will be explained in more detail when we consider the
tactics of declarer. West continued with & J and East played
# K and again South decided not to part with his 4 A. This
proved to be an astute move as East was unable to return his
partner’s suit. He, in fact, led a club and South (who took the
trick with & A), appreciating that he needed to make some
extra tricks from his diamonds, then forced out ¢ A. West won
that trick and played a spade but South was now in full
control.

East, again, should have played & K on & Q to get out of
the way.

This would have enabled his partner to clear his suit, having
driven out South’s @ A. When he regained the lead with ) A,
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West would have enough winning spades to defeat the con-
tract.

In general, if partner leads a card of honour rank and you,
his partner, hold a higher honour and one other card, play
your honour on his. Your partner would not lead an honour
card without others in sequence below it so you will not be
throwing tricks away by ‘unblocking’ by putting your high card
on his.

Game was made on the next hand when better defence could
have defeated it. The position was similar in that the player
with the winning cards was unable to play them out. But this
time it was not due to his partner blocking the suit but rather
because his partner, when he regained the lead, was unable to
lead back the suit.

® 62

© Q82

O K104
é KJ1083

A8

@
= E 2110976 Hand 4
»7

South opened 1 NT (16-18 points) and North raised to 3 N'T.
West led & 5, the fourth highest of his longest suit. East
won the first trick with @ A and returned & 8, the highest
card of his partner’s lead. West captured South’s & J with
& K and continued the suit, forcing out South’s ¢ Q and
leaving himself with two winners (10 7).

South played out his partnership’s winning clubs and next
led ¢ K which East won with ¢ A. Having no spade to
return East tried a heart, but South played ¢ A and made the
contract with the help of his diamonds.

The defenders had enough tricks to defeat the contract but
they were unable to get to them. West held two winning spades
but could not play them. The correct play would have been
for West to play low on the second round and allow South to
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take the trick. The effect of this would have been that East,
when he got back in with ¢ A, would have still held é 3 to
lead back to his partner. South’s 4 Q would have been
captured by @ K and the remaining spades could have been
led out as winners.

If your opponent is sure to make a trick in a suit you are
hoping to establish, it is often wise to let him have his trick
early in order that you may be able to retain a card of the suit
to lead back from the shorter hand. This manoeuvre is
called ‘ducking’ and it is often used for a similar purpose by
the declarer as we shall see in the next section.

Defensive Play Quiz

1. East opens 1 NT (16-18 points) and West raises to 3 NT.
As South, what do you lead from -

(@) # Q10763 () # KQro98
D Ag2 0Js54
O J76 O Az
d 84 & 976

(b) & 762 (d & AK643
0 QJro73 842
O Ko8 O 76
& 32 & 1073

2. West has opened 1 ¢ and North, your partner, overcalled
with 1 ) East bid 1 #, you passed and West raises to 3 &.
East bid 4 #. As South, what do you lead from

(@ Q72 () & 85
Y Qo2 Y AS83
O 7642 CJ72
S K82 & Q9743
(b) d A742 (d) & 962
QJ2 0 Q)7
0975 O J62
s J843 & A742

3. With your side remaining silent, South-opened 1 & and
North bid 3 &. South went on to 4 &. Your partner leads
¢ A (leading A from A K). You are East. What do you
play to the first trick in each of the following examples ?
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Answers to the Part Three Defensive Play Quiz follow on the

next page.
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Answers to Defence Quiz

1. (a) & 6. Fourth highest of longest suit.

Eb) ¥ Q. Top of sequence.

(c) & K. You are entitled to treat K Q 10 as a sequence, as
K Q J. Similarly Q J 9 is treated as Q J 10. If partner
holds & J he should play it on & K to clear the position
for you.

(d) & 4. Fourth highest. Against a suit contract you would
lead & A, but you are prepared to lose an early trick,
leaving your partner one in the suit to return if he
gets in. You must hope he has a second spade.

2. (a) ¢ 2. With three cards headed by an honour in partner’s
suit lead low.

(b) ¥ J. With only two, lead highest.

(c) ¥ A. You must lead the ace against a suit contract.

(d) ¥ Q. Having two honours in sequence you lead the top
one.

3. (@) ¢ 3. Your lowest card, to discourage.

(b) © 8. A high card to tell him to carry on, as you hope to
make $ Q.

(c) © 7. High-low to encourage a continuation. You hope
to trump the third round.
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PART FOUR

Play
The Declaver’'s Game

A. No Trumps

The play of the hand in no trumps is often considered to be
more difficult than in suit contracts. This is probably due to
the fact that you have less control over the situation. If an
opponent leads, the only way you can win the trick is by play-
ing a higher card of the same suit. If you cannot follow suit
you cannot take the trick as you do not have the benefit of a
trump. This means that you have to take certain measures to
retain control.

As soon as the opening lead has been made and dummy has
laid down his hand, you should look at your combined re-
sources and assess your chances and make a plan of attack.
It is quite logical that you should do your planning at the
outset as this is the only time that you hold a full thirteen
cards in each hand. If you play hurriedly at the start, you
may have a bright idea halfway through, but no longer have
the material to carry it out.

First count up your ‘top winners’. That is to say count only
those tricks that you can make without losing the lead. Usually
this total will be below the number you require and this means
that you must establish additional tricks. You can do this by
forcing out a high card from the opponents. As this will mean
losing the lead you have to consider whether you can afford to
let in your opponents. It depends on what are called ‘stoppers’.
These are cards that will take tricks in the suit led by your
opponents. The most obvious example of a stopper is an ace
because that is a sure winner, but lower combinations of cards
will also protect you as we saw in Hand 4 of the previous part
on defensive play (page 89).
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Consider this example dealt by South -
S A3
Q752
¢ QJro98
S )84

Dm

9

3

w Bl ¥
L

75
10

2
Q

S

I0

South opened 1 ), West overcalled with 1 4 and North bid
2 . With 17 points and expecting 8 points from partner,
South bid 3 NT. West leads @ Q and South stops to count his
top winners. There are only 5 and they are @ A and K, Q A
and K and & A. It might be tempting to play those out, but it
would not be wise because after taking 5 tricks you would
have to lose the lead and the other side would lead out lots of
winning spades and clubs. With only § sure tricks you need 4
more and this means you must establish a suit. Your longest
suit is diamonds and the question is how many tricks you
can expect to make in it. The easiest way to find the answer is to
look and see what high cards are missing. Dummy’s suit is
missing both ace and king which means that you would expect
to lose 2 tricks. But you have the king so that 4 tricks should
be made and that is all you need.

You are in a position to win the first trick in either hand but
you must be careful to take & Q with @ K and leave é A in
dummy. This will be what is called an entry card, which means
that it represents a means of winning a trick in dummy (in
this case) so that you can lead from that hand.

Suppose you were to take the first trick with ¢ A and then
started on your diamonds. West might make things difficult
by not playing the <> A until the third round and this would
leave you with no diamond to lead. And with no high card left
in dummy to win a trick and get in there would be no hope of
playing off the two good diamonds. Therefore play & 3 from
dummy and take the opening lead trick in your hand with ¢ K
and next lead ¢ K. If this does not bring out the ace, continue
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until ¢ A appears. Whatever is returned you can win and
& A on the table will enable you to carry on with your good
suit.

It is important to play ¢ K first. If you were to play & Q
and ¢ J it might well happen that you were left with ) K and
the suit would be blocked. We saw instances of this happen-
ing in Hands 2 and 3 of the previous part (page 87).

A sound principle to follow is this. When you suit is solid,
first play the high card from the shorter hand. In this case it
was possible to establish additional tricks in your long suit by
knocking out a high card and it was later possible to get back
i(nto tl)le hand with the long suit by using an outside entry card

& A).

If you have no entry card outside and the only way into the
hand with the suit you are trying to establish is in the suit itself
you may have to concede an early trick to your opponents. This
is called ‘ducking’ and an example of ducking by the defenders
was given in the previous section. (Hand 4, page 89). Here is
an example where the declarer ducks.

$ 85
Q172
O AK8752

S 63

K10764 N
w B

s

® AQ2

¢ AKs
94

é A10972

South is declarer in 3 NT and West leads his fourth highest
spade (4 6) and East’s & J is taken with 4 Q.

Counting the top tricks there are seven (¢ A Q, ¥ A K,
O AKand & A) which means that two more must be found.
There are two long suits but the diamonds are better than the
clubs and you must try to make some of the small cards.
The opponents hold between them ¢ Q J 10 and two low
cards so there is no way by which you can hope to make all six
diamonds. You don’t need to anyway, but you can try for five.
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If the opposing cards are divided 3 in one hand and 2 in the
other (the most likely division) you would find that, after three
rounds, the only diamonds left were those in dummy. But if
you play out the ace, then the king and then a smaller one,
losing, there will not be any way of getting back to dummy.

This is a case where you give the opponents their trick early.
After winning the opening lead with 4 Q you lead { 9 and
play ¢ 2 from the table. East wins and returns & 9 (highest
card of his partner’s lead) and you win this with ¢ A. Now you
lead { 4 and take with ) K. When each of your opponents
follows suit to the second round you can be certain that your
four remaining diamonds are winners as the only out-standing
card (¢ J) will have to be played on ¢ A. You will make
altogether 4 in diamonds, 2 in spades, 2 in hearts and 1 in
clubs, scoring an overtrick.

One further point arises from the play of this hand. How
necessary is it to try and remember all the cards that have
been played and count every suit ?

For a start, only try and count suits that are important to
you. When you are in a suit contract it is important to count the
trumps as you do not want to leave one around and have one of
your winners trumped. This point will be repeated later when
we deal with play in suit contracts.

It is also wise to count a suit that is important as in the case
of the diamonds. There is no need to try and memorize
every card played, at least for the time being. If you hold a suit
with eight cards between the two hands, including the ace and
king, it is only necessary to notice that each opponent has fol-
lowed to the first and second round. Then there can be only
one card remaining in an opponent’s hand. Another example -

 Ag3
N

w E
s

& KQ752

You are South in a no trump contract and you play & A,
following with & 2 and then lead & 3 winning with & Q.
Providing each opponent follows suit on these two tricks the
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rest of your clubs are all winners as the only remaining club
must be played on your & K. You need not remember which
card they played, only that it was a club.

So far we have examined the position where a suit is estab-
lished to provide additional winners by giving up a trick to the
opponents. Sometimes it is possible to avoid letting the oppo-
nents’ high card take a trick by means of a finesse.

The finesse

The finesse is an attempt to win a trick with a lower card than
would be needed to guarantee winning it, hoping that the card
that is higher than yours is favourably placed. For example,
playing in no trumps -

O AQ
i N

w E
s
¢ 32

Needing to make two tricks in diamonds, South leads the { 2
and West plays <) 6. By playing { A the trick will certainly
be won, but the next round will be taken by the opponents
¢ K. But suppose South plays dummy’s ¢ Q, he will win if
West holds ¢ K. In other words the play of ¢ Q is an attempt
to win the trick with a lower card, hoping that { K is favour-
ably placed, i.e. with the player who has already contributed a
low card. It represents an even money chance.

This is the simplest form of finesse. It is possible to extend
it where more than one opposing card is involved. e.g.

(a O AQro () O AJ10 () O KJr1o0

N N N

w E w E w E
s S S

O 642 O 642 O 642

In (a) South leads ¢ 2 and West follows with ¢ 7. If O 101is
played from dummy this offers the possibility of making all
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three tricks if West holds ¢ K and ¢ J. This would be lucky.
But suppose West holds <) J, East would have to use ¢ K to
win and that would leave ¢ A Q as winners. Alternatively
East might take ¢ 10 with ¢ J. South would still have the
chance of leading from his hand and playing ¢ Q from dummy.
The more complex combination involving three cards has been
reduced to a simple finesse such as the one we showed above.

In (b) there is no chance of winning all three tricks and your
aim is to win two tricks which will be possible if the king and
queen are in different hands. First you lead ¢ 2 and, assuming
West plays low, put on ¢ 10 which will probably lose to either
¢ Kor ¢ Q. You have now reduced the position to a simple
finesse against one card. When you again lead you play ¢ 4
and, if West plays low, you put on <} J.

Providing East does not hold both ¢ K and ¢ Q you will
take two tricks. In (c) you are hoping for two tricks. You
cannot make three as you are missing the ace. The important
card is the queen and you must hope that this card is held by
West. You lead ¢ 2 and West plays low and you put on < 10.
If West holds ¢ Q, East will have to play ¢ A if he wishes to
take the trick. By repeating your manoeuvre when you regain
the lead you can take two tricks with ¢ Jand ¢ K.

@ O A653

N

O K72 (W E| O 8
s

O QJro94

(e) O A76
N

CJ98 |W El 0 K1os3
s

O Q42

In (d) South leads ¢ Q. If West plays ¢ Kitis taken by ¢ A
and the remainder of South’s cards are winners. If West plays
a low card, so also does dummy and <) Q wins. South can
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continue with <) J and eventually West’s ) K is trapped. The
reason that South could afford to lead an honour card ( Q)
was that he had adequate replacements in the event of West
playing & K. If O Q, & K and ¢ A all went on the first
round < J, 10, 9 would all be elevated to trick taking value.
South holds these cards.

In (e) the correct play to try and take two tricks is to lead a
low card from dummy towards ¢ Q in the hope that East
holds ¢ K. It would be quite wrong to lead ¢ Q towards <> A.
If West held ¢ K and played it, South would be left with no
card capable of winning a trick. Only lead an honour card if
you can afford to have it covered.

We have discussed various methods whereby the declarer
in a no trump contract can establish additional winners in a
long suit by

(1) Forcing out a high card such as an ace.

(2) Giving up an early trick in the suit by ducking.

(3) Trying to avoid a loser by finessing.
These methods all have one thing in common. They involve
losing the lead. As we said earlier, in no trump contracts you
can only afford to lose the lead according to the number of
stoppers you hold in the enemy’s suit. In order to keep control
you must hold up your stoppers. This feature was mentioned
on page 88, Hand 3 in the Defender’s Play. Here is a further
example.
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North dealt and opened 1 ¢ and South responded 3 NT - the
final contract - holding an evenly distributed 14 points. West
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led & 7, fourth best of his longest suit, and East as third
player played & Q.

South could count seven top tricks (# AKQ, QAK, O A
and & A) and needed to establish extra tricks in diamonds.
Appreciating the danger from the clubs he declined to take
either of the first two tricks and won the third, leaving West
with two winners in the suit. But West could not get in to play
them as he had no card capable of winning a trick. South led
¢ J on which West played ¢ 4 and dummy ¢ 3. This was a
finesse against ¢ K. East won but could not return a club as he
did not have one. He tried a spade but South was in again and
played out the rest of the diamonds and his top cards in spades
and hearts, making ten tricks in all.

Had South won the first or second round of clubs, East
would have been able to lead back a club when he was in with
¢ K and there would have been no way of preventing West
from taking four tricks in clubs. As it was, had East still had a
club to play, it would have meant that West only held four to
start with and the defenders would win three tricks in clubs.

There is no need to hold up an ace if, by capturing an
honour card, you may make a second trick in the suit, as in the
following example.

éJ4

¥ Q108

O K74

® QJrog2
& K9g632 N o Q8s
VK73" 1o g| Q642
O 1085 O QJé62
& 87 s S Asg

® Alo7y

Q AJos

O Ags

& Ké63

Against South’s contract of 3 NT West leads his fourth highest
spade (4 3). It may be tempting for South to play & J from
the table to ‘force out the king or queen from East’. But his own
@ 10is just as good as & J and if & 4 is played from dummy,
East must play either & Q (or & K) to prevent South winning
with & 10.
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When East covers dummy’s & 4 with & Q it might appear
correct from what we have said earlier to play low and keep our
ace until later. In that event East will return & 8, highest of
partner’s lead, and South will win just one trick in spades. But
if @ Q is taken with & A, South will later take a second trick,
for @ K will capture & J and & 10 will be a winner on the
third round.

So the play will go like this. West leads & 3 covered by
& 4, & Q and & A. South can count only four top tricks
(dA,Q A, O AK) but he can increase this number to eight
by establishing his clubs. As only one high card is missing, the
ace, four out of five of dummy’s clubs should take tricks. At
trick 2 South leads & K and East wins with & A and returns
& 8. West wins with @ K and clears his suit by leading
another round, which South wins with & 10. South next
plays off the rest of his clubs, discarding one heart and one
diamond from his hand. West will discard one heart, keeping
one low card to protect his king and two diamonds. He must
try and keep both his spades.

After playing off the clubs South should make certain of his
contract by taking three tricks with ¢ A, ¢ Aand O K. It
would be bad play to lead ¢ Q from dummy and finesse,
playing low from hand in the hope that East held ¥ K, for
West would regain the lead and play out two winning spades
and defeat the contract.

Your first obligation must be the fulfilment of the contract.
Never risk defeat by trying to make an overtrick which is
comparatively unimportant.

This hand illustrated the value of the ten when combined
with other honours. In these two cases the ten ensures a second
trick -

& Q4q2 & Q42
N N

@ @sled |[W E ) #sled |W E
S S

& K103 & A103

In (a) you play low in dummy and East must play either 6 A
or & ] to prevent you winning with 4 10. If he plays & A
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you will make both @ K and & Q. If he plays & J, you win
with @ K. & 10 will take the third round assuming & A has
been played on & Q.

Similarly in (b), providing you play low on the first round
you will win two tricks by capturing East’s & J or & K with
& A and subsequently making either ¢ Q or & 10.

Here are two further fairly common honour combinations
that deserve a mention as they crop up quite often

é Q43 4 K3
N N
() ds5led |w E (d) #sled |W E
S S
#J6z ®J42

In each case one trick is guaranteed providing you play a low
card from dummy on the first round.

In (c) you play & 3 and East must play either @ K or ¢ A
to prevent you winning with & J. Thus you have drawn out one
high card without having used a high card yourself. With & Q
and & ] remaining you will take a trick. But suppose you had
played & Q on the first round and East had won with & A or
& K and returned the suit. You are now left with & 4 3 in
dummy and 4 J 6 in your hand and West will probably
capture your & J.

Similarly in (d) if you play & 3 and East wins with & Q, your
& ] will take the third round assuming & A has taken dummy’s
& K. If you gamble by putting up & K on the first round and
it loses to @ A, West will probably capture your & J with his

In the majority of cases it pays declarer to play low second
in hand, just as we advised in the case of the defenders.

But there are instances where it is correct to play high as
second player. These occur mainly where dummy holds a
doubleton honour (i.e. an honour card with one low card)
and declarer has no good card to support his best one. The
following hand will illustrate the point.
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South is declarer in 3 NT after opening 1 { and West over-
calling with 1 &.

West leads his fourth highest card, & 7, and South’s correct
play is to put on & Q from the table, He is certain of one trick
whatever happens, but if he plays & 3 and East is able to force
out his @ K, & Q is left unguarded in dummy. Playing ¢ Q
at once gives you the chance of winning the trick and still
having & K 8 in your hand. (As West bid spades he is likely
to hold the ace.)

When & Q wins the next lead should be ¢ Q intending to
finesse against ) K. If East holds ¢ K you will take all five
tricks. As it is West wins the first diamond lead but you are
quite safe. If he plays a spade you will win a trick with your
& K as you are the last player to play. In other words, if West
lays down his @ A you can put in & 8 and your ¢ K is nowa
winner. If West leads a low spade you wait to see what East
plays and you either play @ K or & 8 depending what is
necessary. We will have more to say about the importance of
being the last player later.

But before leaving this hand it might be worth pointing
out that South could be almost certain that West held & A,
apart from the fact that he had bid the suit. In Part 3 on
Defence we explained the Rule of Eleven (page 82) and this
can be used by the declarer. In the present instance West has
led & 7. Deducting 7 from 11 we find that there are four
cards higher than the seven, distributed between the remaining
three hands. Dummy holds one (¢ Q), South holds two
(4 K 8) so that East holds only one card above the seven. If it
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were the ace, West’s suit would be & J 10 9 7 and, as was
explained with opening leads, he would have started with the
top card of the sequence, & J not & 7.

If declarer has to lose the lead in a no trump contract it may
be a matter of great importance which opponent gets in.
Declarer may be protected in a suit if it is led from one side but
not from the other. This point was referred to in the hand
shown above and this further example may show up the posi-
tion more clearly.

é Ai108

D 84

O AKjs

& AJo43
S 972 N ® K654
VAQ952 | g| V1073
O 8643 O J102
2 S s Q87

North opens 1 & and South responds 2 NT which is duly
raised to 3 NT. West leads ? 5 on which East plays ¢ 10 and
South wins with < J - leaving him with Y K 6. There are, in
all, seven top tricks (one spade, one heart, three diamonds and
two clubs) and the additional tricks will come from the clubs.
Even if a trick is lost to the queen, South will have enough
tricks.

With a combined holding of nine cards missing the queen,
the usual play is to lay down the ace and king and hope that the
queen falls as there are only four cards in the other hands.
But South in this case must ask himself “if I lose the lead and the
opponents carry on with their hearts, their best suit, am I
certain to regain the lead ? East’s play of ) 10 at trick one
makes it almost certain that West holds Y A Q. Had East held
a higher heart he would have played it as third player. So, if
East should get in and lead a heart through South’s king,
West will make all his remaining hearts because, having seen
what card South plays, all he needs to do is to beat it, being
careful to play something above dummy’s <7 8. South must
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endeavour to prevent East winning a trick. It does not matter
if West gets in because if hearts are led from the left up to, as
opposed to through, South, the ¢ K is protected because
South will be the last player and can decide, when everyone
else has played, whether to put on the king or not.

South can achieve his object in this way. At trick 2 he leads
& 5 to & A. He must not risk & J as East might (and would)
take it. He next returns s 3 and, when East plays b 8, puts on
& 10. This means that the trick must be won either by South
with & 10 or by West with & Q if he has it. East cannot
possibly take the trick. It would be equally correct for South
to lead dummy’s & J instead of & 3 but East should not play
his & Q as he cannot expect to gain by doing so.

In the next example declarer has to keep out the player who
has established his long suit.

é 53

QJro9

¢ K1os54

® AKogg
4 KQJ98 - ® 1042
VK75 w  E| V6432
¢ Q93 O 6
32 s & J107635

@ A76

Y AQS

O AJ872

& Q38

South is declarer in 3 NT having opened 1 ) and West over-
calling with 1 4. West leads & K and South must hold up his
ace as he cannot afford to leave himself unprotected in a suit
when he cannot be certain of not losing the lead. West continues
with & Q which is also allowed to win, and plays a third
round forcing out & A.

The position now is that West holds two winning spades. He
can only play them out if he takes a trick and thereby gets the
lead. South must therefore ensure that, if a trick is lost, it must
be East who wins and not West. In order to make nine tricks
the diamonds must be established and the queen is missing.
South lays down <> A from his hand just in case ¢ Q is alone.
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He next leads <) 2 and covers West’s > 9 with ¢ 10 so that the
only player who can take the trick is dummy or East. As it
happens, dummy’s ¢ 10 wins and the play of ¢ K captures
West’s ¢ Q, and South ends up with ten tricks (1 spade, 1
heart, 5 diamonds and 3 clubs).

Suppose that East had been able to take ¢ 10 with O Q.
He had no spade to return to his partner. He would, probably,
lead a heart up to weakness on the table. South would have to
be careful to play ¢ A in case West won with ¢ K enabling
him to lead out his spades. South would make 1 spade, 1
heart, 4 diamonds and 3 clubs for a total of nine tricks.
Abbreviated, we can write this 1 €, 1 0, 4 ¢ and & 3.

B. Suit Contracts
Playing contracts in no trumps, the only way of finding extra
tricks is by the establishment of a long suit. A long suit is also
useful in a suit contract, but extra tricks may be obtained in
other ways by using a trump card. The chief danger you face
in a no trump contract is that your opponent is able to set up a
long suit against you and you have no high card left to stop
him taking tricks. In a suit contract you have more control.
The following hand is a fairly straightforward example of the
tactics to follow when you have a trump suit.

® Qrogq
Q Kég

O 85
S AQJ87
3 N

ot

1094

Da\

fe—

-

3

<

<]
P3P
L P
Yo

6
96 S
¢ AK]Jo8
P 953

O Ag

® Ks3

South opens 1 & and North responds 2 &, showing at least
8 points and compelling partner to bid again. When South
re-bids 2 ¢ North knows he holds more than four so that his
holding will be good support. As he could have opened the
bidding himself, North supports to game by bidding 4 .
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West leads ¢ Q, top of his sequence. There is not much
purpose in playing ¢ K so Q 4 is played from dummy. East
encourages with ) 8, West duly continues with ) J and the
defenders take the first 3 tricks. They will not play a fourth
heart because it will be trumped so East, assuming it is now his
lead, will play ¢ K, dummy’s weakest suit. South must win
with ¢ A as he has lost all the tricks he can afford.

If the contract were in no trumps it would not matter
whether South played clubs or spades as both are equally
solid. But in the present case, if South played clubs next, East
would soon have no more and would trump. South must
therefore draw trumps, being careful to count how many have
been played. When each opponent follows suit twice he knows
there is only one more to come. Having pulled the last trump,
leaving himself with two, South can safely play clubs. He
starts by winning with & K and then leads over to dummy
where the length lies. After winning with é A and & Q he
plays & J and, having no more clubs left, he is able to
discard ¢ 3.

Suppose that South had won the first two club tricks with
& A and & Q and the third round with & K, the lead would
now be in his hand and he would be unable to get to dummy to
play his & J and get rid of his losing diamond.

The importance of being able to get into the right hand is
shown in this next example where it is necessary to over-take
a winning card.

P 432

South opened 2 # showing eight playing tricks and a strong
suit. With normal distribution he will make all his six spades,
together with his ace of clubs and one of his diamonds. As a
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two bid is normally treated as forcing for one round, North bid
2 NT just to keep the auction open, but promising nothing.
South re-bid 3 & and North raised to 4 & on the strength of
his diamonds.

West led ? A and East encouraged with ¢ 8. West there-
fore continued with Y K and East won the third round with
¥ Q. He then led & J up to dummy’s weakness and South
won with & A. Two rounds of trumps drew the four shared
by the opponents and South had to solve the problem of what
to do with his losing club. He saw a way of discarding it on a
diamond. He led ¢ K following with ¢ 9 from the table and
next led & Q which he overtook with ¢ A. This meant that the
lead was in dummy and on ¢ J which was a winner South
discarded & 3.

We have emphasized before the importance of studying the
hand as soon as dummy goes down, and making a plan. Very
often the first trick is vital and a foolish or thoughtless play
may be impossible to rectify.

Here is an example where South was lucky enough to hold
30 points between the two hands, but his hasty play to the
opening lead resulted in disaster.

 AJg
QY K109
O 652

» AQJ6
2 N
w E

N
N oW,

PO3IP
2o

6
186
4

O3
el d=
<o

& K7

South opened 1 ¢ and North responded 2 . He has an
excellent hand but he cannot be certain at this stage which will
prove to be the best final contract.

South re-bid 2 NT to give a good impression of all round
strength and about 15-16 points in high cards. North next bid
3  which offered his partner the choice between playing in
3 NT or 4 ¢, depending on whether he held four or five
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hearts. North could not hold more than three as he would
have supported the suit earlier.

South closed the auction with 4 ¢ and West led & 2.
Without stopping to think, South played & 4 from dummy
hoping to win the first trick with 4 Q.

But East played & K and, seeing no point in leading back
into the strength, returned ¢ Q to the weakness on the table.
This proved to be a fatal blow to South, whose { K was
captured with $ A and he found himself losing the first four
tricks for one down (contract defeated by one trick). South
should have counted his tricks. He has five tricks in trumps
as all the top cards are shared between himself and dummy.
He has four tricks in clubs and one in spades. He may well
make a second spade and may possibly make a diamond, but at
least he is in a position to win the first ten tricks for his contract.
Therefore he should have put up & A and then drawn trumps.
He next plays & K and follows with & 7 (high card first from
the short hand) and plays off his winners, discarding > 7 4 from
his hand.

Having taken the first 8 tricks and still holding 2 trumps he
cannot go down.

He can now afford to lead a spade. East wins with 4 K and
leads a diamond, ¢ K being taken with ¢ A. But South takes
the remaining tricks with 2 trumps and & Q, making an
overtrick.

A similar disaster occurred on this hand.

é Qro97

Y K6

OJs54

& AJos
N

w E
S

& AK]J85s
Q Ay

O Q87
& Qro7

South opened 1 4 and bid game after a reply of 3 &. West led
& 2 and South played & 5 and lost to East’s ¢ K. East could
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guess that his partner had led a singleton. Had it been fourth
best South would not have had a club at all. If West had held
two clubs (doubleton) he would have led the higher.

So East returned the suit and West trumped. West guessed
right and returned a diamond which East won with ¢ A and
led back another club. Including ¢ K the defenders took the
first five tricks beating South’s contract by two tricks.

South’s reasoning should be on these lines. There are §
winners in trumps and 2 in hearts. It should be quite possible
to make 3 tricks in clubs as only the king need win a trick for
the opponents. Providing diamonds are not played initially
by declarer only 2 tricks need be lost.

In other words 2 diamonds and 1 club are the only losers.
Therefore do not take unnecessary risks; put up ¢ A and get
in early and draw trumps. Having drawn trumps lead & Q
and force out & K. If East leads back a low diamond be careful
to play low second in hand to make sure of one trick.

South can afford to play & A at trick one because he has only
3 apparent losers. But if his diamonds were 9 8 7 (not Q 8 7)] he
would have to take a chance on winning the opening lead with

& Q. Because with 3 losing diamonds he cannot afford to give
away a club. It is his only chance.

But with ¢ Q 8 7 he has only 2 losing diamonds and there is
absolutely no point in taking a gamble on the position of ¢ K.

The last hand introduced the subject of counting losers. In
suit contracts it is advisable to count up the losers as well as the
winners. Here is an example:




South is declarer in 4 € and West leads & 4. Counting winners
you have 5 spades, I heart, 1 club for certain and you expect to
establish 3 diamonds after forcing out > A. That comes to ten
tricks. What can you lose ? Certainly 1 diamond, possibly 1 club
and maybe 2 hearts. In other words you have 10 winners but
possibly 4 losers. You plan to discard one loser on the fourth
diamond but it is important that you should be able to drive
out the { A before the enemy drive out your ¢ A.

This is the critical point of the hand and again demonstrates
the essential need to consider the situation before playing to the
first trick.

You must win the first trick with & A and then draw trumps,
leaving one high one in dummy in case you need an entry
card. After drawing trumps you lead ¢ Q and continue with the
suit until ¢ A has been played. East, after winning with A
can play his & K and then lead ¥ K. You will regain the lead
with ¢ A and carry on with your diamonds, discarding a
heart on the fourth diamond.

Consider what would have happened if you had played the
low club from the table at trick one. East would win with & K
and attack dummy’s weakness by leading Y K. You would
have to part with your ace. When later, you sought to establish
your diamonds East would get in with { A and play out 2
winning hearts. Failure to play & A at trick one has left you a
move behind.

The three last examples have all had one thing in common.
Declarer has been offered a finesse on the first round. In all
such cases you should ask yourself two questions. Firstly, is the
finesse necessary? Secondly, if it is taken and fails, is the
contract in danger? In all three cases the finesse was not
necessary. In all three cases it was dangerous to risk the finesse.

In all the hands quoted in this section the declarer has drawn
trumps as soon as possible. This policy is correct in most
instances where there are winners in other suits to play off
and the trump suit is sufficiently strong. It is a bad mistake to
start playing out a good suit and allow your opponent to trump.
There is a saying in England that many a man walks London’s
River Thames Embankment, homeless, because he forgot
to draw the trumps. Probably a similarly unhappy future is
predicted for those in America and other parts of the world who
also fail to draw trumps.

But the population on the Embankment is cosmopolitan
and there are almost as many there because they drew trumps
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as there are because they didn’t. In other words, there are
circumstances where it is wrong to play trumps at once.

A common instance is where dummy is short in a suit and
one or more of declarer’s losers can be ruffed (i.e. trumped).
For example -

PO3IP
e O
[*]
R o

Sw
2

J87 s
& AK1094
¥ AK7
093
é 1042

South is declarer in 4 # and West leads ¢ A and is encouraged
by East’s ¢ 7. He continues with ¢ K and ¢ 6 and South
ruffs the third round with & 4.

South can count on making 5 spades, including the one he
has used, 2 hearts and 2 clubs - total 9. He might hope for
another trick in clubs if each opponent holds 3 but this would
be very lucky. He can trump another diamond in his hand but
this would not give him an extra trick as he has already counted
on making 5 tricks in spades. Consider the hearts. If South
plays off his ¢? A K dummy will then have no heart. South can
then lead his <Y 7, a loser, and take it with a trump in dummy.
This will mean that he has made a trump trick on the table
without having had to play a trump from his own hand. After
ruffing Y 7 trumps can be drawn.

The extra trick would not have been made if South had
drawn trumps at once as dummy’s three trump cards would
have all fallen on South’s.

In the next example it is necessary to give up a trick before
using one of dummy’s trumps.
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South opened 1 Y and North responded 2 . South made a
jump re-bid of 3 ¥ to indicate 7 probable winners in his own
hand including a good suit, and North raised to 4 .

West led & Q, top of a sequence, and the defence took the
first two tricks; South trumped the third round. Here again
the value of a trump suit is shown, for otherwise there would
be no way of preventing the loss of at least 4 tricks in clubs.

South can see only nine tricks (6 hearts, 2 diamonds and
1 spade). He would need a lot of luck to make an extra dia-
mond but he can make use of the fact that dummy holds only 2
spades. After winning the third trick he leads ¢ A and then
& 7. West wins but South must regain the lead at the next
trick. He now plays & 9 and trumps in dummy. He thus
makes an extra trick. Had he played out his trumps at once
dummy’s three would have fallen on his own.

Supposing that he had played two rounds only and then
played his spades, West would win and, seeing what declarer
was hoping to do would play his ¥ 10, removing the last trump
from the table.

Another situation in which it is wrong to draw trumps at
once is where there is a necessity to discard a loser quickly.
Consider this example.

o3P
Nl
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$ J9é

(VA L/

O AK984

$ AQs
¢ A N @ 432
X KQi10o98 Q 6432
O 1062 w El 053
% J862 s & 10974

® KQr875

Q As

& Q7

& K3

North deals and opens 1 ¢. South makes a game forcing bid of
2 & having 15 points and a good suit. North re-bids 3 { to
show at least five and South repeats his spades (3 &) to confirm
length. His alternative bid is 4 . North can now raise to 4 #.
Once he has received some support for his suit, South can try
for a slam and uses the Blackwood Convention, bidding 4 NT
to ask about aces. North responds 5 Q to show 2 aces. South
cannot be certain which these are but if the ace of clubs is miss-
ing the suit will be protected if the lead comes from the left
so South bids 6 &.

West leads ¢ K which South wins with Y A. Counting up
the winning tricks, there are § in spades, I in hearts, 4 (prob-
ably 5) in diamonds and 3 in clubs. That makes 13 tricks
which means a grand slam.

But what about the losers? South is missing the ace of
trumps and nothing can prevent that trick being lost. Also the
lead of < K has forced out ¢ A and left South with a losing
heart in each hand. If he leads trumps at this point the
opponents will take the trick with & A and immediately play
¥ Q to defeat the contract.

Before leading a spade South must look for a way of dis-
carding his losing heart. He must look for a suit where he has
more cards in one hand than the other.

There are two such suits, diamonds and clubs. It would be
impossible to play diamonds three times without someone
trumping but the clubs are much safer. The opponents hold
8 cards between them in clubs and it is unlikely that one
player has only two and his partner six. Therefore South plays
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& K followed by & 3 to & A and leads & Q. Being unable to
follow suit he can discard <Y 5. Now it is safe to lead trumps.
West will win with & A and will doubtless play out his 0 Q.
but he is too late. South can trump. South merely needs to
draw trumps and then play out his diamonds to make his slam
contract.

The need to take care which opponent gains the lead applies
to suit contracts equally as it does to no trumps explained
earlier on page 104. For example -

¢ K973

Q752

O AJ87

é$ K2
S5 N ® Q64
Y AQS w E ¥ J1o96
O 10952 D 43
% QJro96 S & 8543

& AJ1082

0 K43

O KQ6

& A7

South is declarer in 4 @ and West leads & Q. South can count
4 tricks in diamonds, 2 in clubs, and if he makes 4 out of his
5 tricks in spades he will have enough. But he might lose 3
hearts and 1 spade. If his opponents get in they will probably
attack hearts and a heart lead from East on the right through the
king will be much more embarrassing than a lead from West
up to the king.

South must therefore keep East out of the lead by playing
# K and then @ 3, finessing 4 10 when East follows with 4 6.
If West holds & Q South is in no danger.

Whenever you hold a king without either the ace or queen
in either hand to balance it, try and make sure that you,
with the king, will be the last hand to play if the suit is led.

Playing in a suit contract may enable you to establish a long
suit in which high cards are missing without giving away a
trick. This is done by ruffing out the suit. By trumping the
opponents’ winners you reach a point when the cards you hold
are the only ones left. Here is an example -
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East deals and opens 1 & and South makes a jump overcall of
2 & to show his powerful hand with a good suit. North can
support and South bids game.

West leads & 3 and East makes the first two tricks with & Q
and & A. He then switches to ) Q which South wins with
¢ A. South has only nine tricks in sight. He cannot trump any
loser in dummy and must try and make another trick from his
long suit (diamonds). He cannot lead a Q) and give a trick
away as the opponents will take tricks in hearts. Between the
two hands there are seven diamonds, leaving the opponents
with six. These are most likely to divide 4-2 or 3-3. That is
to say one opponent will hold four and his partner two, or they
might be evenly split. Provided that neither opponent holds
more than four, dummy’s last diamond can be made into a
winner, for after four rounds there will be none left.

After playing out @ A South leads a diamond and wins 2
tricks with ¢ A and ¢ K, each opponent following suit. He
next leads ¢ 3 on which East plays ¢ 10 and South trumps
with & K. This is necessary to avoid West over-trumping and
also because South must retain some small trumps to lead
over to dummy.

Dummy is entered by leading & 4t0 49 and ¢ 8 is led,
East playing ¢ Q and South trumping with & Q. This is the
fourth round of diamonds and { 9 on the table is the only one
left and therefore a winner. It is possible to lead over to the
table with & 5 taken by # 10 and one of South’s losing hearts
is discarded on the winning diamond.

It would have been impossible to establish the diamonds in
this way in no trumps. As it was it could only be achieved

116



because South held very strong trumps and could afford to
keep using them and still be able to draw those in the opposing
hands. Using high trumps enabled South to get back to dummy.

When you hold solid trumps (as here) it is correct to ruff
with medium sized ones (not the lowest). After all, when all the
trumps are out, any that remain will be tricks whether they
are ace and king or the two and three.

Declarer’s Play Quiz

1. In each of the following you are East, declarer in 3 NT with
no opposition bidding.

(a) é J109 N ® Q874
QA6s | 5| VK4
O Ji08 O AKo
& Kjq2 s $d A63
South leads ¢ 7

(1) How many top tricks do you have ?
(i) In which hand will the first trick be won ?
(iii) How do you plan to make the contract ?

(b) &Ky N 4 Aj
0 Q62 QY KJio9
O 743 w Bl 5 AKS86
& AKJ54 s 1096

South leads & 6

(i) How many top tricks do you have ?
(ii) How do you plan to make the contract?

QQ?K642 N %2}5
532 9

O Q92 b B O AJ1087
& K32 s é A7

South leads ¢ 7 and North plays Q.

(i) How many top tricks do you have ?
(ii) How do you plan to make the contract ?
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d & K62 N $ AQs
V 52 w = QA73
O K86 O Arog4
 A10984 s ® QJs3

South leads <7 6 and North plays ¢ K.

(i) How many top tricks do you have ?
(i) How do you plan to make the contract ?

2. You are East, declarer in 4 <? with no opposition bidding.

(@) 87 A ® As532
QY Jio2 w gl VAKQ963
O 6432 o7
& AK32 s ® 94

South leads ¢ K to which North follows with ¢ 8
South leads ¢ 5 on which North plays ¢ A.
(i) How many top tricks do you have ?
(ii) How do you plan to make the contract ?
(b) You are East, declarer in 4 . South overcalled your
opening bid of 1 & with 2 .

é Q64 N & AKJro09g
VAT w gl V10743
S KQ8 S AJ

& Qro987 s & K]J

South leads ? A on which North plays < 8
South leads ¢ K on which North plays < 2

South leads ¢ Q.
(i) What card to you play from dummy on trick 3 ?
(ii) How do you plan to make your contract ?

(c) You are East, declarer in 6 & with no opposition

bidding.
®J72 N # KQ10986
0 Q7 w E Q?AS PRt
O AQyg O Ko
d AKJg2 S & Q6

South leads  J which is covered by dummy’s ¢ Q
and North plays ¢ K.
How do you plan to make your contract ?
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(d) You are East, declarer in 4 #. You opened 3 &
(pre-emptive bid) and the opponents did not bid.

®J742 N # KQ1o9865
SKkhss [V 2 31
$ A72 S & Q6

South Jeads ¢ Q.

(i) Should you win the first trick ?
(ii) How do you plan to make your contract ?

Answers to the Part Three Declarer’s Play Quiz follow on the
next page.
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Answers to Declarer’s Play Quiz

I. (@) (i) 7 top tricks. As a heart has been led and you hold
¥ K J 4 you must take 3 tricks. If North plays
@ Q you take with ¥ K and still have ¢ A and
@ J between you. If North plays Q 10 or lower
you win with ) J and still have ? A and Q K. In
addition you hold ) A K and & A and & K.

(ii) In your hand with either Q K or @ J.

(iii) Play spades, forcing out 4 A and & K while you
have all suits stopped. You will thus win 2 extra
tricks in spades.

(b) (i) 6 top tricks. (# AK, & A Kand & A K).

(ii) Play hearts at once to make 3 tricks to add to your
other 6. You have already counted on making o
A K so you would only make 3 extra tricks in clubs
if you were lucky and captured & Q.

(c) (i) 6 top tricks. (& A K, K (as the suit has been led)
O A and & AK).

(ii) Win with ¥ K. Enter dummy with either & K or
& K and lead ¢ Q or ¢ 9 and finesse. If South
holds ¢ K and continues hearts, you are pro-
tected with Q J 9.

(d) (i) 7 top tricks. ( AK Q, YV A, O AKand & A).

(ii) Hold up < A until third round. Lead & Q and
finesse, hoping South holds & K. If North wins
with & K he probably has no heart to return. If he
does have a heart the suit is probably divided 4-4
between North-South.

2. (a) (i) 9 top tricks. (1 in spades, 6 in hearts and 2 in clubs).

(ii) Trump the second diamond and lead 4 A and & 2
in order to trump low spades in dummy. By trump-
ing 2 spades you should make 11 tricks in all.

(b) (i) & Q. North has played high-low and will also be
able to trump. This is consistent with the fact that
South overcalled and will hold § hearts. As your
trumps are solid you can well afford & Q.

(ii) Draw trumps and lead ¢ A followed by ¢ J and
discard ? 10 on ¢ K. Next play a club, You
must discard your <) 10 before playing a club for
otherwise South will win with & A and play  J.

(c) Win with ¢ A and play ¢ K followed by ¢ 9 and dis-
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card U 2 on dummy’s third diamond. This must be
done before leading trumps.
(d) (i) Win with Y A. If you allow ¢ Q to win opponents
may attack clubs.
(ii) Lead a diamond at trick 2 to force out ¢ A so that
you can discard a club on ¢ K. You have 4 losers,
one in each suit. You cannot prevent the loss of a
spade and diamond as you are missing the ace and
the heart lead has driven out your ¢ A. But you
need not lose a club if you can discard it in time.
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SCORING TABLE
(As published i the authorized odiu'o; of the lfm of Contract Bridge 1963, by kind

TRICK SCORE
Scored below the line by declarer’s side, if contract is fulfilled,
IF TRUMPS ARE

For each trick over six bid and made & * v *
undoubled .. . . . 20 20 30 30
doubled . s .. .

oo .o X .e gg gg !gg I:Oo

AT A NO-TRUMP~- CONTRACT

Undoubled | Doubled | Redoubled
For the first trick over six, bid and made, .. 40 8o 160

Por each addn.u.mal tl.'lfk ove‘t. 8ix, b.l:i and. . o0 6 o

The first side to score 100 points below the line, in one or more hands, win a GAME,
When a game is won, both sides start without trick score toward the next game,
First side to win two games wins the RUBBER points,

PREMIUM SCORE

Scored above the line by declarer’s sides
SLAMS
Not
Toe " vulnerable | Vulnerable
aSLAM
sm (12 tricks) bid and made ., . 500 750
Grand Slam (all 13 ) bid and made .o 1000 1500
OVERTRICKS
For each OVERTRICK Not
(tricks made in excess of contract) vulnerable | Vulnerable
undoubled .o .o .o o .. Trick value | Trick value
xdublg‘lied .o . .o . .o ;gg 200
ou .o
making any doubied or redoubled contract  + 50 4‘.':2
RUBBER, GAME, PART-SCORE
For winning RUBBER, if o ts hav game ,, .o o
For winning RUBBER, if oﬁﬁz‘ﬁm hav: :g: g:e gnme .o .o . m
D FINTSBED RUBBER . on i having won one gam «v 300
UNFINISHED RUBBER ~ for having the only pm-score (or mm) . s0
HON
Scored above 1
Fol:ngddmg four of the five trump HONOUIEVS (A, K, Q, J, 10) in one
LX) x”
For h ldmgallﬁvettum HONOURS in hand .
Px hgldmg all four ACES in one hand g?:zle’o-?r’u{;x;oc):ont::cet . . §§3
UNDERTRICK PENALTIES
Scored above the line by declarer’s opponents if contract is not fulfilled:
UNDERTRICKS
(tricks by which declarer fails to fulfil the contract)
Not Vulnerable Vulnerable
Und’bléd | Doubled | Red’bled d
FO;iﬁciﬂt under- ny oul Und’bled | Doubled | Red’bled
s 100
For each addin 50 200 100 200 400
un
K oo «o 50 200 400 100 | 300 600
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Glossavy of
Bridge Terms

AucTION. The series of bids made by the players to determine
the number of tricks to be won either with a trump suit or
with no trumps. (See page 13).

BALANCED HAND. Evenly distributed. (See page 21).

BID. An undertaking to win at least a specified number of
tricks over and above six, either with a suit as trumps or
with no trumps. (See page 9.)

BIDDABLE SUIT. A suit that is considered strong enough to bid,
which will in most cases comprise at least four cards.
(See page 23).

BLOCKING. A situation in which the high cards in one hand,
unaccompanied by low cards, prevent playing winners in the
same suit from the opposite hand. (See page 87).

BUSINESS DOUBLE. A double suggesting that the contract will
fail. Also termed Penalty Double. (See page 11).

CONTRACT. The undertaking by declarer’s side to win a speci-
fied number of tricks over and above six, either with a suit
as trumps or with no trumps. This definition is similar to
that of a bid but a bid may be followed by a higher bid. It is
the highest bid that represents the contract. The essence of
bidding for the contract gives the game its name -~ Contract
Bridge. (See page 9).

CONVENTION. A call or play which, by partnership agreement,
carries a special message. (See page 38).

CUE BID. A forcing bid in a suit in which the bidder cannot
reasonably wish to play, to convey to partner that he can
win the first or second round (rarely the third) if the suit is
led. (See page 60).

CUT Drawing cards to determine the partnership. (See page

12).
DECLARER. The player who plays the hand. (See page 14).
DEFENDERS. The two players who are trying to prevent the
declarer making the number of tricks he has undertaken to
win. (See page 14).
DEFENSIVE TRICK. A trick that is likely to be made even though
the opponents are playing the hand. (See page 22).
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DISCARD. To throw away a non-trump card when unable to
follow suit. (See page 74).

DOUBLETON. A suit containing two cards. (See page 24).

puMMY. Declarer’s partner. (See page 14).

ENTRY CARD. A card that enables a player to win a trick to
permit him to lead from a particular hand. (See page 94).
FINESSE. An attempt to win a trick with a lower card than the

one that would be sure to win. (See page 97).

FOLLOW SUIT. Playing a card of the same suit that was led.
(See page 7).

FORCING. A bid that demands that partner should reply either
at least once (forcing one round) or until a game contract has
been reached (forcing to game). (See page 23).

GAME. A score below the line amounting to at least 100 points.
(See page 10).

HONOURS. The Ace, King, Queen, Knave (or Jack), Ten. (See
page 12).

LIMIT BID. A bid that conveys the value of the hand within a
narrow range of strength. (See page 31).

MAKE. To shuffle. (See page 12).

MAJOR SUIT. The higher ranking suits - spades and hearts (See

page 10).

MINOR SUITS. The lower ranking suits — diamonds and clubs.
(See page 10).

No TRUMPS. Playing without having any suit as trumps. (See
page9).

OVERTRICKS. Tricks made in excess of what you have contracted
to win. (See page 78).

OVERTRUMP. To trump with a higher trump than the previous
player.

PART SCORE. A trick score below the line, less than 100. (See
page 10).

pass. No Bid. (See page 13).

PENALTY DOUBLE. Also called business double. A call by a
player implying that the opponent’s contract will be
defeated. The effect of the double is to increase the penalty
if the contract fails. If the contract s made the trick score is
doubled and a bonus of 50 points above the line is awarded.

PLAYING TRICKS. Tricks that you are likely to win if you play
the contract in your selected denomination.

PRE-EMPTIVE BID. A high barrage bid. (See page 57).

QUICK TRICKS. Card or combinations of cards that will win a
trick on the first or second round. (See page 71).
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RE-BID. The second and subsequent bid made by a player.
(See page 45).

RESPONDER. The player who replies to a bid made by the
partner. (See page 23).

REVOKE. Failure to follow suit when able to do so. (See page 7).

RUBBER. The side which first wins two games is said to have
won the rubber and is credited with bonus points. (See page

9).

RUFF. To trump. (See page 9).

SINGLETON. A suit containing one card in the suit (See page 37).

SIGN OFF. To indicate by a bid an unwillingness for partner to
bid any further. (See page 40).

SLAM. A contract to win either twelve tricks (Little Slam) or
thirteen tricks (Grand Slam). (See page 12).

STOPPER. A card or combination of cards that will win a trick.
(See page 93).

TAKE OUT DOUBLE. A double by a player asking partner to call
his best suit. Also referred to as Informatory Double. (See
page 62).

THROWN IN. When all four players say ‘no bid’, the hand is
thrown in and no points are scored. The deal passes in the
normal way.

TOP TRICKS. Tricks that can be won without conceding the
lead. (See page 93).

TRICK. A group of four cards, one contributed by each player in
rotation, (See page 8).

TRUMP. Each card of a suit that represents the final contract.
The trump card has priority over other suits for trick taking
purposes. (See page 8).

UNDERTRICKS. Each trick by which the declarer’s side fails to
make the contract. (See page 17).

VULNERABLE. The term applied to a side that has scored a game.
The effect of being vulnerable is that penalties for under-
tricks are greater, as also are the premiums for certain
achievements, e.g. slams. (See page 18).

voIp. Holding no cards in a suit.
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The Right Way To Play Chess

Chess is the most popular indoor game in the world. No element
of luck is involved; the beauty and variety of the game is un-
ending, and the fundamental yearning for struggle fulfilled.

D. B. Pritchard covers every aspect of the game and moves on
to discuss more advanced ideas. Comprehensive and profusely
illustrated.

Begin Chess

Clear and authoritative, this is not just another ordinary book
on the game. It is a bombshell of revolutionary ideas that the
author has developed over many years of teaching chess to the
young and not so young.

Start off with Begin Chess, or perhaps The Right Way To Play
Chess and become a Chesspert.

Both Uniform with this book

Crosswords For The Enthusiast

Sixty intriguing and varied crosswords to test both dabblers
and fanatics.

Forty-two of these are introduced for the first time by Don
Putman, who has been compiling crosswords for many years for
such papers as The Listener and the Birmingham Post.

Word Quiz Book

Do You Get Your Mords Wuddled? Learn to express yourself
fluently with the help of this amazing aid to conversation and
make progress in all walks of life. These quizzes are fun and
educational.

All Uniform with this book.

ELLIOT RIGHT WAY BOOKS
Kingswood, Surrey, U.K.



Some of our other Books

Test your Word Power

Find out just how you rate in the word power game. We guaran-
tee that, however good you think you are, there’s a word here
you don’t know the meaning of.

The all British Quiz Book

A unique collection of questions and answers on almost every
aspect of British life and history — Customs, Sports, Games,
Geography, etc.

Progressive Brain Teasing
Quizzes

The questions in each of the 50 sections in this book are arranged
in mounting order of difficulty. Question 1 - everyone should be
able to answer, Question 12 - only an expert can answer.

The Right Way to Tmprove Your
English

Designed to provide you with a thorough grounding in the
basic elements of English. Contents include: Common Mis-

takes, Punctuation, Verbs, Pronouns, The Sentence and the
Paragraph.

All Uniform with this book.

ELLIOT RIGHT WAY BOOKS
Kingswood, Surrey, U.K.



LEARNING TO DRIVE IN PICTURES

by A. Tom Topper

This book really attacks the difficulties simply and logically.
The first quarter of this 208-page book - teaches absolute
mastery of car control zo be practised on open spaces or quiet
safe back streets. Step-by-step methods for achieving perfect
three point turns, reverses into openings and hill starts (the three
major bugbears) are all taught BEFORE throwing you in the deep
end of thick traffic.

Many have been frightened off learning to drive by appalling
instruction and trying to learn things far out of their depth to
begin with. A few awful frights and the whole project seems to
become a hysterical nightmare. All this can be avoided with Tom
Topper the master-teacher.

The Author Diagnoses Danger Met in Driving

THE ESSENTIAL MASTER-DRIVING LIFE-SAVING PoINTs are not
glossed over and ignored - each is emphasized and explained, so
that a child of 12 could understand.

Wonderful reviews appeared on publication and here are some
extracts:

The Times: ‘Down-to-earth . . . practical . . . basic.’

Daily Telegraph: ‘For those who are still struggling ...
good value.’

Daily Mirror: ‘Clearer than many more expensive man-
uals.’

The Sun: ‘Admirable . . . amazingly cheap . .. invaluable.’
Daily Sketch: ‘Easiest to understand . . . excellent.’
Womar’s Own: ‘Very helpful . .. gives all the theory.’

More publicity was accorded when the 2nd edition appeared
by The Daily Mail, Woman’s Own (again) and London Evening
News, etc.

The enormous 1st edition of six figures was sold within months
under our famous ‘Test pass or money back guarantee’. We had
none returned.

Uniform with this volume
ELLIOT RIGHT WAY BOOKS Kingswood, Surrey, U.K






G.C.H.FOX

Begin Bridge delves to the heart of each skill that
the beginner needs and explains each difficulty with
relentless clarity.

G. C. H. Fox is an English International player and
winner of several national events. He is principal of
the Mayfair Bridge Studio, the oldest-established
bridge school in England. He is Chief Training Officer
of the English Bridge Union’s Teacher Training
Scheme and has been Bridge Correspondent of the
Daily Telegraph since 1961. He is a regular
contributor to Bridge Magazine.

Sunday Telegraph: R. A. Priday says, .
excellent value .. . outlines clearly the basic
principles of bidding, play and defence.”

The Observer: Terence Reese says, ‘A clear and
reliable introduction for the complete beginner.

ISBN 0-71kL0-0L80-Y4

PAPERFRONTS
We seek the authoritative 90000
manuscript supreme in
quality and accuracy (help
%iven to inexperienced authors).
uarantee: If dissatisfied with any
9 "780716"006800

Paperfront return to publisher for
money back.

ELLIOT RIGHT WAY BOOKS
KINGSWOOD SURREY UK



	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15
	16
	17
	18
	19
	20
	21
	22
	23
	24
	25
	26
	27
	28
	29
	30
	31
	32
	33
	34
	35
	36
	37
	38
	39
	40
	41
	42
	43
	44
	45
	46
	47
	48
	49
	50
	51
	52
	53
	54
	55
	56
	57
	58
	59
	60
	61
	62
	63
	64
	65
	66
	67
	68
	69
	70
	71
	72
	73
	74
	75
	76
	77
	78
	79
	80
	81
	82
	83
	84
	85
	86
	87
	88
	89
	90
	91
	92
	93
	94
	95
	96
	97
	98
	99
	100
	101
	102
	103
	104
	105
	106
	107
	108
	109
	110
	111
	112
	113
	114
	115
	116
	117
	118
	119
	120
	121
	122
	123
	124
	125
	126
	127
	128
	129
	130
	131
	132

